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(14) amÁ¶ì¶dñWm, emgZ, amOZrVr d ñWm{ZH$ àemgZ
29) ^maVr¶ amÁ¶KQ>Zm ({deofV: amÁ¶KQ>ZoMr àmñVm{dH$m)
30) ‘yc ŷV h¸$, ‘mJ©Xe©H$ VÎdo d ‘yc ŷV H$V©ì¶o)
31) amÁ¶KQ>ZoMm B{Vhmg
32) cmoH$emhrMr g§§H$ënZm, àH$ma d ̂ maVmVrc cmoH$emhr
33) amÁ¶ àemgZ d ñWm{ZH$ àemgZ (J«m‘rU VgoM ehar) ¶m§Mr aMZm, A{YH$ma d H$m¶©o
34) n§Mm¶VamO, gÎmoMo {dH|$ÐrH$aU, 73 dr d 74 dr KQ>ZmXþéñVr, nogm H$m¶Xm, dZ h¸$ A{Y{Z¶‘ 2006
35) ‘m. gdm}ƒ Ý¶m¶mc¶mMo Ý¶m¶ {ZU©¶ (B§Ðm ghmZr {déÕ H|$Ð emgZ, ‘mYwar nmQ>rc {déÕ Ana Am¶wº$ Am{Xdmgr

{dH$mg

1) ^maVr¶ amÁ¶KQ>ZoVrb H$b‘ H«$. ................ amï´>r¶ AZwgy{MV OmVr Am¶moJmer g§~§{YV Amho.
1) 225 2) 338 3) 138 4) 57

1) Article No. .............. of the Indian constitution is related to National Commission for Scheduled

Castes.

1) 225 2) 338 3) 138 4) 57

2) 81 ì¶m KQ>Zm XþéñVrV ‘{hbm§Zm g§gXoV {H$Vr Q> o̧$ AmajUmMm àñVmd hmoVm ?
1) 10% 2) 30% 3) 33% 4) 50%

2) What percentage of reservation for women was proposed in the Parliament in the 81%t

Constitutional amendment ?

1) 10% 2) 30% 3) 33% 4) 50%

3) ^maVr¶ amÁ¶KQ>ZoÀ¶m ............... n[a{eï>m‘Yrb g‘dVu gyMrZwgma {ejU ho g‘dVu gyMr‘Ü¶o g‘m{dï> H$aÊ¶mV
Ambo.
1) gmVì¶m 2) AmR>ì¶m 3) ~mamì¶m 4) Xhmì¶m

3) In Indian Constitution as per the .......... Schedule Education is included in concurrent list.

1) Seventh 2) Bighth 3) Twelfth 4) Tenth

4) ^maVr¶ g§{dYmZmÀ¶m {H$Vì¶m n[a{eï>mV 'amÁ¶ gyMr'Mm g‘mdoe H$aÊ¶mV Ambobm Amho?
1) ~mamì¶m n[a{eï>mV 2) gmVì¶m n[a{eï>mV 3) nmMì¶m n[a{eï>mV 4) n{hë¶m n[a{eï>mV

4) Subjects of 'State List' is mentioned in which schedule of the Indian Constitution?

1) Twelth Schedule 2) Sevent Schedule 3) Fifth Schedule 4) First Schedule
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5) Imcrcn¡H$s H$moUVo {dYmZ MyH$sMo Amho ?
1) amÁ¶KQ>Zm amï´>nVtZm Ë¶m§À¶m {ddoH$m{YH$mamZo H$mUoVohr H$m¶© H$aÊ¶mMm A{YH$ma XoV Zmhr.
2) EImÚm J§̂ ra qH$dm qZXZr¶ AWdm «̂ï>mMmamer {ZJS>rV JwÝøm§Mm Amamon Agcoë¶m ì¶{º$cm ‘§Ìr ~ZÊ¶mÀ¶m

g§X^m©Vrc g„m amÁ¶nmcm§Zm XoÊ¶mnmgyZ ‘w»¶‘§Í¶m§Zm KQ>ZmË‘H$ ÑîQ>çm H$moUrhr à{V~§Y H$é eH$V Zmhr.
3) amÁ¶nmc Ë¶m§Mm ñdV:À¶m ‘VmZwgma Aem ì¶{º$cm ‘w»¶‘§Ìr åhUyZ Zo‘y eH$VmV Á¶mMr {dYmZ g ôV ~hþ‘V

{‘i{dÊ¶mMr e³¶Vm Amho Am{U Vo {dYmZg^m nyU©nUo ñWmnZ H$aÊ¶mnyduM ¶m A{YH$mamMm dmna H$é eH$VmV,
Aer H¥$Vr amÁ¶nmcm§Mm Aàm‘m{UH$nUm ñWm{nV H$aUma Zmhr.

4) darcn¡H$s H$moUVohr Zmhr.
5) Which one of the following statements is false ?

1) The Constitution does not empower the President to exercise any function in his discretion.

2) The Chief Minister cannot be constitutionally prohibited to give advice under Article — 164

(1) to the Governor in respect of a person, for becoming a Minister, who is charged for serious

or heinous offences or offences relating to corruption.

3) The Governor may appoint a person to be the Chief Minister on his own estimation that such

person is likely to command a majority in the State Assembly and he can exercise this power

even before the Assembly is fully constituted. Such act, itself, would not establish malafide on

the part of the Governor.

4) None of the above

6) Cnamï´>nVtÀ¶m {ZdS>UwH$sgmR>rÀ¶m {Zdm©MH$ ‘§S>imV ............. ¶m§Mm g‘mdoe hmoVmo.
1) cmoH$g ôMo gd© gXñ¶ 2) amÁ¶m§À¶m {dYmZg ôMo gXñ¶
3) amÁ¶g ôMo gd© gXñ¶ 4) 1 Am{U 3 XmoÝhr

6) The electoral college for the election of the Vice-President comprises of

1) All the members of the Lok Sabha 2) Members of State Legislative Assemblies

3) All the members of the Rajya Sabha 4) Both 1 and 3

7) g§gXo‘Ü¶o AW©g§H$ën Imcrc 6 Q>ßß¶mVyZ OmVmo. ¶mo½¶ H«$‘ cmdm.
1. AW©g§H$ën gmXa H$aUo 2. {d^mJr¶ g{‘Ë¶m§H$Sy>Z N>mZZr
3. gd©gmYmaU MMm© 4. {d{Z¶moOZ {dYo¶H$mcm ‘§Oyar
5. AZwXmZmÀ¶m ‘mJÊ¶m§da ‘§Oyar 6. {dÎm {dYo¶H$mcm ‘§Oyar
n¶m©¶r CÎmao :
1)  2-1-3-5-4-6 2) 1-2-3-4-5-6 3) 1-3-2-5-4-6 4) 2-1-5-4-3-6

7) The budget goes through the following 6 stages in the Parliament. Arrange in proper order.

1. Presentation of budget 2. Scrutiny by Departmental Committees

3. General discussion , 4. Passing of Appropriation Bill

5. Voting on demands for grants 6. Passing of Finance Bill

Answer options :

1) 2-1-3-5-4-6 2) 1-2-3-4-5-6 3) 1-3-2-5-4-6 4) 2-1-5-4-3-6
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5) H|$Ð-amÁ` g§~§Y, amÁ¶ {Z{‘©Vr
1) ¶mo½¶ OmoS>çm cmdm

A. Eg. Ho$. Ya Am¶moJ i. {S>g|~a 1953
B. ’$Oc Acr Am¶moJ ii. OyZ 1948
C. Oo. ìhr. nr. g{‘Vr iii. {S>g|~a 1948
n¶m©¶r CÎmao :
1) A-II, B-I, C-III 2) A-III, B-II,C-I 3) A-III, B-I, C-II 4) A-I, B-II, C-III

1) Match the pairs correctly.

A. S. K. Dhar Commission I. December 1953

B. Fazal Ali Commission II. June 1948

C. J. V. P. Committee III. December 1948

Answer options :

1) A-II, B-I, C-III 3) A-III, B-II,C-I 2) A-III, B-I, C-II 4) A-I, B-II, C-III

2) Imcrc Cƒ Ý¶m¶mc¶m§Mm Ë¶m§À¶m ñWmnZonmgyZ MT>Ë¶m H«$‘mZo H«$‘ cmdm.
A. Ho$ai ~. {X„r H$. JwdmhmQ>r S>. nQ>Zm
n¶m©¶r CÎmao :
1) H$, S>, ~, A 2) H$, ~, A, S> 3) H$, S>, A, ~ 4) S>, H$, A, ~

2) Arrange the following High Courts in the increasing order of their establishment.

A. Kerala B. Delhi C. Guwahati D. Patna

Answer options :

1) C, D, B, A 2) C, B, A, D 3) C, D, A, B 4) D, C, A, B

3) ^maVr¶ g§gXr¶ emgZmMr cjUo/d¡{eîQ>ço hr AmhoV.
A. Zm‘‘mÌ d dmñV{dH$ H$m¶©H$mar A{YH$mar ¶m§Mo ApñVËd.
~. H$m¶©H$mar ‘§S>imMr {d{Y‘§S>img gm‘y{hH$ O~m~Xmar.
H$. n§VàYmZmMo ZoV¥Ëd.
S>. H${Zð> g^mJ¥hmMo {dgO©Z
B. ~hþ‘VYmar njmMr gÎmm
n¶m©¶r CÎmao :
1) ’$º$ A,~, H$,S> 2) ’$º$ ~, H$, S>, B 3) ’$º$ A, ~ 4) darcn¡H$s gd©

3) The features of Parliamentary Government in India are

a. Presence of nominal and real executive.

b. Collective responsibility of the executive to the legislature.

c. Leadership of the Prime Minister.

d. Dissolution of lower house.

e. Majority party rule.

Answer options :

1) Only a, b, c, d 2) Only b, c, d, e 3) Only a, b 4) All of the above
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4) {d^mJr¶ n[afXoÀ¶m (Zonal Councils) H$m¶m©g§~§Yr Imcrc {dYmZo {dMmamV ¿¶m.
A. amÁ¶o, H|$Ðem{gV àXoe Am{U H|$Ð ¶m§À¶mV ghH$m¶© Am{U g‘Ýd¶ ¶mg MmcZm XoUo.
~. amÁ¶dmX, joÌdmX, ^mfmdmX Am{U g§Hw${MVdmXr Vrd« d¥Îmr ¶m§Zm Amim KmcUo.
H$. Am§VaamÁ¶r¶ ZÚm§À¶m nmÊ¶mg§~§Yr amÁ¶m-amÁ¶m‘Ü¶o Oo V§Q>o CX²̂ dco AgVrc Ë¶m~m~V Mm¡H$er H$aUo Am{U

Ë¶mda g„m XoUo.
n¶m©¶r CÎmao :
1) {dYmZ A, ~ ~amo~a AmhoV 2) {dYmZo A, H$ ~amo~a AmhoV
3) {dYmZo A, ~ Am{U H$ ~amo~a AmhoV 4) Ho$di {dYmZ A ~amo~a Amho

4) Consider the following statements regarding functions of the Zonal Councils.

A. To promote co-operation and co-ordination between States, Union Territories and the Centre.

B. To help in arresting the growth of acute state consciousness, regionalism, linguism and

particularistic trends.

C. Inquiring into and advising upon disputes relating to water of interstate rivers which may have

arisen between States.

Answer options :

1) Statements A, B are correct 2) Statements A, C are correct

3) Statements A, B and C are correct 4) Only statement A is correct

5) 1976 À¶m 42 ì¶m KQ>ZmXþéñVrÛmao Imbrbn¡H$s H$moUVo nmM {df¶ ho amÁ¶gyMrVyZ H$‘r H$ê$Z g‘dVu gyMr‘Ü¶o
Q>mH$Ê¶mV Ambo hmoVo?
1) ObqgMZ, gmd©O{ZH$ Amamo½¶, dZo, dOZo d ‘mno Am{U ‘Ëñ¶ ì¶dgm¶.
2) {ejU, dZo, dÝ¶ ney d njr ¶m§Mo g§ajU, dOZo d ‘mno Am{U Ý¶m¶ì¶dñWoMo àemgZ.
3) ObqgMZ d H$mbdo, {ejU, ‘Ëñ¶ ì¶dgm¶, dÝ¶ ney d njr ¶m§Mo g§ajU Am{U Ý¶m¶ì¶dñWoMo àemgZ.
4) {ejU, Amamo½¶, dZo, CÚmoJ Am{U Q>moëg.

5) Which of the following five subjects were transferred by the 42nd amendment of 1976 from the

‘State List’ to the Concurrent List ?

1) Irrigation, Public Health, Forests, weights and measures and fisheries.

2) Education, Forests, Protection of wild animals and birds, weights and measures, and

administration of justice,

3) Irrigation and canals, Education, Fisheries, Protection of wild animals and birds and

administration of justice.

4)  Education, Health, Forests, Industries and Tolls.

6) Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Amho?
1) KQ>ZmXþéñVr {dYo¶H$ g§gXoV ‘m§S>Ê¶mnydu amï´>nVrMr nyd© AZw‘Vr Amdí¶H$ AgVo.
2) 1971 À¶m Mmo{dgmì¶m KQ>ZmXþéñVr A{Y{Z¶‘mÛmao KQ>ZmXþéñVr {dYo¶H$mg ‘mÝ¶Vm XoUo amï´>nVtda ~§YZH$maH$

H$aÊ¶mV Ambo Amho.
3) 1971 À¶m gpìdgmì¶m KQ>ZmXþéñVr A{Y{Z¶‘mÛmao KQ>ZmXþéñVr {dYo¶H$mg ‘mÝ¶Vm XoUo amï´>nVtda ~§YZH$maH$

H$aÊ¶mV Ambo Amho.
4) 1976 À¶m ~oMm{igmì`m KQ>ZmXþéñVr A{Y{Z¶‘mÛmao KQ>ZmXþéñVr {dYo¶H$mg ‘mÝ¶Vm XoUo amï´>nVtda ~§YZH$maH$

H$aÊ¶mV Ambo Amho.
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6) Which one of the following statements is correct ?

1) The previous sanction of the President is required for introducing in Parliament any bill for

amendment of the Constitution.

2) The Twenty-Fourth amendment act of 1971 has made it obligatory for the President to give his

assent to a bill for amendment of the Constitution.

3) The Twenty-Sixth amendment act of 1971 has made it obligatory for the President to give his

assent to a bill for amendment of the Constitution.

4) The Forty-Second amendment act of 1976 has made it obligatory for the President to give his

assent to a bill for amendment of the Constitution.

7) amÁ¶ bmoH$godm Am¶moJm~m~V Imbrbn¡H$s H$moUVo {dYmZ MwH$sMo Amho?
1) Am¶moJmÀ¶m AÜ¶jm§gmR>r H$moUVohr nmÌVoMo {ZH$f amÁ¶KQ>Zo‘Ü¶o gm§{JVbobo ZmhrV.
2) gwédmVrg, Am¶moJmMo AÜ¶j d gXñ¶m§Mo {Zd¥ÎmrMo d¶ 60 df} hmoVo Vo 1975 À¶m g§gXoÀ¶m H$m¶ÚmÛmao dmT>dyZ 62

df} H$aÊ¶mV Ambo Amho.
3) Am¶moJmÀ¶m EImÚm gXñ¶mMr Ë¶mM bmoH$godm Am¶moJmV nwÝhm Xþgè¶m§Xm gXñ¶ åhUyZ Zo‘UyH$ H$aVm ¶oV Zmhr na§Vw

Ë¶mg Ë¶mM Am¶moJmV AÜ¶j åhUyZ qH$dm AÝ¶ amÁ¶ bmoH$godm Am¶moJmV AÜ¶j åhUyZ Zo‘Vm òD$ eH$Vo.
4) darbn¡H$s EH$hr Zmhr.

7) Which one of the following statements about "State Public Service Commission’ is false ?

1) The qualification of the chairman is not specified in the constitution.

2) Initially, the retirement age of the chairman and members was 60 years, it was extended to 62

years by an act of Parliament in 1975.

3) A member cannot be reappointed for the next term in the same Public Service Commission,

however he can be appointed as the chairman of that SPSC or chairman of other Public Service

Commission.

4) None of the above

8) OmoS>çm bmdm - ({ZdS>UyH$ gwYmaUm)
(A) (g{‘Vr/Am¶moJ) (B) (ñWmnZm df©)
a) B§Ð{OV Jwám g{‘Vr i) 1990
b) ìhmoam g{‘Vr ii) 1993
c) {ZdS>UyH$ H$m¶Xm gwYmaUmda H$m¶Xm Am¶moJmMm Ahdmb iii) 1998
d) Jmoñdm‘r g{‘Vr iv) 1999

v) 2001
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (iv) (ii) (v) (iii)

2) (iv) (ii) (iii) (i)

3) (iii) (i) (v) (ii)

4) (iii) (ii) (iv) (i)
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8) Match the pairs. (Electoral reforms)

(A) (Committee/Commission)                       (B) (Establishment Year)

a) Indrajit Gupta Committee i) 1990

b) Vohra Committee ii) 1993

c) Law Commission Report on Reform of Electoral Laws iii) 1998

d) Goswami Committee iv) 1999

v) 2001

Answer Options :

(a) (b) (c) (d)

1) (iv) (ii) (v) (iii)

2) (iv) (ii) (iii) (i)

3) (iii) (i) (v) (ii)

4) (iii) (ii) (iv) (i)

9) Imcrc {dYmZo {dMmamV ¿¶m.
A. amÁ¶KQ>ZoMr ‘yc ŷV g§aMZm Agcoë¶m VaVwXt‘Ü ò g§gX XþéñVr H$ê$ eH$V Zmhr. Aem Ame¶mMm {ZU©¶ gdm}ƒ

Ý¶m¶mc¶mZo JmocH$ZmW IQ>ë¶m‘Ü¶o (1967) {Xcocm Amho.
~. ^maVr¶ amÁ¶KQ>Zo‘Ü¶o XþéñVrMo {dYo¶H$ ho àW‘ Ho$di cmoH$g ô‘Ü¶oM gmXa Ho$co OmD$ eH$Vo.
H$. g§KamÁ¶r¶ ñdê$nmer {ZJS>rV Agcoë¶m VaVwXtÀ`m XþéñVrgmR>r ^maVmVrc gd© amÁ¶m§À¶m {d{Y‘§S>im§Zr XoIrc

‘mÝ¶Vm XoUo Amdí¶H$ AgVo.
S>. amï´>nVr KQ>ZmXþéñVr {dYo¶H$ g§gXoÀ¶m nwZ{d©MmamgmR>r EH$Xm naV nmR>dy eH$VmV.
darcn¡H$s H$moUVr {dYmZo/Zo ~amo~a Amho/V ?
1) ’$º$ "A' 2) ’$º$ H$ 3) A, ~ Am{U S> 4) darcn¡H$s H$moUVohr Zmhr

9) Consider the following statements.

A. Parliament cannot amend those provisions which form the basic structure of the Constitution.

This was ruled by the Supreme Court in Golak Nath case (1967).

B. An Amendment bill to the Constitution of India can be initiated by an introduction of a bill in

the Lok Sabha only.

C. If an Amendment seeks to make changes in the federal character, the Amendment also requires

to be ratified by the Legislature of all the States of India.

D. The President can return the Constitutional Amendment bill once for reconsideration of the

Parliament.

Which of the statements given above is/are correct ?

1) Only A 2) Only C 3) A, B and D 4) None of the above

10) Imbrbn¡H$s H$moUVo {dYmZ MwH$sMo Amho?
1) 1963 À¶m n§Yamì¶m KQ>ZmXþéñVr A{Y{Z¶‘mZwgma Cƒ Ý¶m¶mb¶mÀ¶m Ý¶m¶mYrem§Mo {Zd¥ÎmrMo d¶ 60 dfm©dê$Z 62

dfmªn¶ªV dmT>{dÊ¶mV Ambo.
2) 1976 À¶m E o̧$Mmirgmì¶m KQ>ZmXþéñVr A{Y{Z¶‘mZwgma amÁ¶ bmoH$godm Am¶moJm§À¶m AÜ¶j Am{U gXñ¶m§Mo

{Zd¥ÎmrMo d¶ 60 dfm©dê$Z 62 df} H$aÊ¶mV Ambo.
3) 1963 À¶m n§Yamì¶m KQ>ZmXþéñVr A{Y{Z¶‘mZwgma gdm}ƒ Ý¶m¶mb¶mVrb Ý¶m¶mYrem§Mo {Zd¥ÎmrMo d¶ 62 dfmªdê$Z

65 dfmªn¶©§V dmT>{dÊ¶mV Ambo.
4) darbn¡H$s EH$hr Zmhr.
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10) Which one of the following statements is incorrect ?

1) The Fifteenth Amendment Act of 1963 raised the age of retirement of the Judges of the High

Courts from 60 to 62 years. :

2) The Forty first Amendment Act of 1976 enhanced the retirement age of the chairman and

members of Public Service Commissions of the states from 60 to 62 years.

3) The Fifteenth Amendment Act of 1963 raised the age of retirement of Judges of the Supreme

Court from 62 to 65 years.

4) None of the above

11) ^maVr¶ g§{dYmZmÀ¶m AZwgyMr AmR> ‘Ü¶o nwT>rcn¡H$s H$moUË¶m ^mfm§Mm g‘mdoe H$aÊ¶mV Amcm Amho ?
A. ‘{Unwar ~. Zonmir H$. B§J«Or
S>. qgYr B. CXÿ©
n¶m©¶r CÎmao :
1) A, ~, H$, S>, B 2) A, ~, S> 3) A, ~, S>, B 4) ~, H$, B

12) Which of the following languages are part of Schedule 8 of the Indian Constitution ?

a. Manipuri b. Nepali c. English

d. Sindhi e. Urdu

Answer options :

1) a, b, c, d, e 2) a, b, d 3) a, b, d, e 4) b, c, e

amÁ¶godm ‘w»¶narjm  nona -2 (2024)
1) AZwgyMr  I g§X^m©V ‘yi g§{dYmZmVrc ^maVr¶ àXoem§À¶m VaVwXr g§X^m©V nwT>rc {dYmZm§n¡H$s H$moUVr {dYmZo ¶mo½¶ AmhoV?

A. ‘yi ^maVr¶ g§{dYmZmV amÁ¶m§Mo dJuH$aU A, ~, H$ Aem VrZ JQ>§mV H$aÊ¶mV Amco hmoVo.
~. Mm¡Ï¶m S> JQ>mV XmoZ àXoem§Mm g‘mdoe H$aÊ¶mV Amcm hmoVm.
H$. S> JQ>m‘Ü¶o Oå‘y Am{U H$mí‘raMm g‘mdoe H$aÊ¶mV Amcm hmoVm.
n¶m©¶r CÎmao :
1) A, ~, H$ 2) A, ~ 3) A, H$ 4) ~, H$

1) Which of the following statements about territory of India in original Constitution(Schedule I)

are correct ?

a. In the original Constitution of India, States were divided into three Parts i.e. A, B, C.

b. Fourth D Part included two territories under it.

c. Jammu and Kashmir was included under Part D.

Answer options :

1) a, b, c 2) a, b 3) a, c 4) b, c

2) OmoS>çm cmdm
"A' (g§{dYmZmMo ̂ mJ) "~' ({df¶
A.  ^mJ - XX i. AmUr~mUrÀ¶m g§~§YrÀ¶m VaVwXr
~. ̂ mJ - XVIII ii. KQ>ZmXþéñVr
H$. ^mJ - XV iii. {ZdS>UwH$m
S>. ^mJ - XI iv. H|$Ð d amÁ¶ g§~§Y
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n¶m©¶r CÎmao :
A ~ H$ S>

1) iv ii iii i

2) iii i ii iv

3) i ii iv iii

4) ii i iii iv

2) Match the pairs.

‘A’ (Parts of the Constitution)                  ‘B’ (Subject)

A. Part — XX i. Emergency Provisions

B. Part — XVIII ii. Amendment of the Constitution

C. Part — XV iii. Elections

D. Part — XI iv. Relations between Union and State

Answer options :

A B C D

1) iv ii iii i

2) iii i ii iv

3) i ii iv iii

4) ii i iii iv

3) "^maV ho JUamÁ¶ Amho" åhUOo
A. cmoH$m§Mo emgZ Am{U cmoH$m§gmR>r emgZ.
~. amÁ¶à‘wI åhUyZ {Zdm©{MV amï´>nVr AgVmV.
H$. amï´>nVr nXmgh gd© nXo gd© ZmJ[aH$m§gmR>r Iwcr AgVmV.
n¶m©¶r CÎmao :
1) A, ~, H$ 2) A, ~ 3) A, H$ 4) ~, H$

3) ‘India is republic’ means

a. Government by the people and for the people.

b. State has a elected President at the head of State.

c. All offices including the office of the President are open to all citizens.

Answer options :

1) a, b, c 2) a, b 3) a, c 4) b, c

4) ¶mo½¶ H$WZ/Zo AmoiIm.
A. ^maVr¶ amÁ¶KQ>ZoÀ¶m 7 ì¶m AZwgyMr‘Ü¶o VrZ gyMr-H|$Ð gyMr, amÁ¶ gyMr d g‘dVu gyMr g‘m{dï> AmhoV.
~. AZwÀN>oX 249 Zwgma H$m¶Xm H$aÊ¶mMo eofm{YH$ma H|$ÐmH$S>o XoÊ¶mV Amco AmhooV.
H$. 7 ì¶m AZwgyMrVrc {VÝhr gyMt‘Ü¶o gdm©V OmñV ~Xc 7 ì¶m Am{U 42 ì¶m KQ>ZmXþéñVrÛmao H$aÊ¶mV Amco.
n¶m©¶r CÎmao :
1) H$WZ A d H$ ¶mo½¶ AmhoV 2) H$WZ A, ~ d H$ ¶mo½¶ AmhoV
3) H$WZ A ¶mo½¶ Amho 4) H$WZ H$ ¶mo½¶ Amho
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4) Select the correct statement/s.

A. The seventh Schedule of the Constitution of India embodies three lists, viz, the Union list, the

State list and the Concurrent list.

B. According to Article 249, the residuary powers of Legislation have been left with the Union.

C. The largest number of changes in three lists of Seventh Schedule were made by 7th and 42nd

Constitutional Amendments.

Answer options :

1) Statements A and C are correct 2) Statements A, B and C are correct

3) Statement A is correct 4) Statement C is correct

amÁ¶godm ‘w»¶narjm  nona -2 (2023)
1) Imbrbn¡H$s H$moUË¶m I§S>mV OJmVrb gdm©V A{YH$ Y‘©{Zanoj amÁ¶o AmhoV?

1) Am{e¶m 2) Am{’«$H$m 3) ¶wamon 4) X{jU A‘o[aH$m
1) which of the following continent has the highest number of Secular states in the world ?

1) Asia 2) Africa 3) Europe 4) South America

2) OmoS>çm bmdm.
'A' (AZwÀN>oX H«$.) '~' ({df¶ {ddaU)
a) AZwÀN>oX 121 i) dm{f©H$ {dÎmr¶ {ddaU
b) AZwÀN>oX 120 ii) à{H«$¶m/nÕVrMo {Z¶‘
c) AZwÀN>oX 118 iii) g§gXoV dmnamd¶mMr ^mfm
d) AZwÀN>oX 112 iv) g§gXo‘Ü¶o MM}darb à{V~§Y
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (ii) (iii) (i) (iv)

2) (iv) (iii) (ii) (i)

3) (iii) (ii) (iv) (i)

4) (i) (iv) (iii) (ii)

2) Match the pairs :

‘A’ (Article No.) ‘B’ (Subject Matter)

a) Article 121 i) Annual Financial Statement

b) Article 120 ii) Rules of Procedure

c) Article 118 iii) Language to be used in Parliament

d) Article 112 iv) Restriction on discussion in Parliament

Answer Options :

(a) (b) (c) (d)

1) (ii) (iii) (i) (iv)

2) (iv) (iii) (ii) (i)

3) (iii) (ii) (iv) (i)

4) (i) (iv) (iii) (ii)
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1) g§{dYmZ g^m, òmoV, g{‘Ë`m, {MÝho

amÁ¶godm ‘w»¶narjm  nona -2 (2024)
1) g§{dYmZ g ô~m~V ¶mo½¶ H$WZ/Zo AmoiIm.

A. H°${~ZoQ> {‘eZ ¶moOZoÛmao {Z‘m©U Ho$coë¶m ¶moOZo A§VJ©V Zmoìh|~a 1946 ‘Ü¶o g§{dYmZ g ôMr ñWmnZm H$aÊ¶mV
Amcr.

~. àË¶oH$ {~«{Q>e àm§VmV dmQ>n Ho$coë¶m OmJm Mma ‘w»¶ g‘wXm¶-‘wñcr‘, erI, X{cV Am{U gd©gmYmaU, ¶m§À¶m
cmoH$g§»¶oÀ¶m à‘mUmV {d^mJë¶m OmUma hmoË¶m.

n¶m©¶r CÎmao :
1) ’$º$ "A' 2) ’$º$ ~ 3) A d ~ XmoÝhr 4) ¶mn¡H$s Zmhr

1) Select the correct statement/s about Constituent Assembly.

A. The Constituent Assembly was constituted in November 1946 under the Scheme formulated

by the Cabinet Mission Plan.

B. Seats allocated to each British Province were to be divided among the four principal

communities — Muslim, Sikh, Dalits and General, in proportion to their population.

Answer options :

1) Only A 2) Only B 3) Both A and B 4) None of these

2) g§{dYmZ g ô~m~V Imcrc {dYmZo {dMmamV ¿¶m.
A. g§{dYmZ g ôZo ‘o 1949 ‘Ü¶o ^maVmÀ¶m amï´>Hw$c gXñ¶Ëdmcm ‘mÝ¶Vm {Xcr.
~. g§{dYmZ g ôZo 22 Owc¡, 1947 amoOr amï´>ÜdO ñdrH$macm.
H$. g§{dYmZ g ôZo 24 OmZodmar, 1950 amoOr amï´>JrV ñdrH$maco.
S>. g§{dYmZ g ôZo 24 OmZodmar, 1949 amoOr ^maVmMo n{hco amï´>nVr åhUyZ S>m°. amO|Ð àgmX ¶m§Mr {ZdS> Ho$cr
darcn¡H$s A¶mo½¶ H$WZ AmoiIm :
1) ’$º$ A 2)’$º$ ~ 3) ’$º$ H$ 4) ’$º$ S>

2) Consider the following statements about Constituent Assembly.

A. Constituent Assembly ratified India’s membership of the Commonwealth in May,1949.

B. Constituent Assembly adopted the National Flag on July 22, 1947.

C. Constituent Assembly adopted the National Anthem on January 24, 1950.

D. Constituent Assembly elected Dr. Rajendra Prasad as the first President of India on January

24, 1949

Select the incorrect statement from the above :

1) Only A 2) Only B 3) Only C 4) Only D
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amÁ¶godm ‘w»¶narjm  nona -2 (2023)
1) Imbrbn¡H$s H$moUË¶m VaVwXr ¶m g§{dYmZ g ôZo {X. 26.11.1949 amoOr amÁ¶KQ>Zm ñdrH$macr Ë¶mM {XdgmnmgyZ

VmËH$mi bmJy H$aÊ¶mV Amë¶m?
a) ^maVr¶ ZmJ[aH$Ëd b) ZmJ[aH$m§Mo ‘yc ŷV A{YH$ma
c) amï´>nVrZo enW KoUo d) AmUr~mUr {df¶H$ VaVwXr
e) {ZdS>UyH$ Am¶moJ Am{U Ë¶mMr H$m¶}
n¶m©¶r CÎmao …
1) darb gd© 2) (a), (b), (d) Am{U (e)

3) (a), (b), (c) Am{U (d) 4) (a), (c) Am{U (e)

1) Which of the following provision/s were given immediate effect after adopting the Constitution

on 26.11.1949 by the Constituent Assembly ?

a) Indian Citizenship b) Fundamental Rights of the Citizen

c) Oath of the President d) Emergency provisions

e) Election Commission and its functions

Answer Options :

1) All above 2) (a), (b), (d) and (e) 3) (a), (b), (c) and (d) 4) (a), (c) and (e)

2) Imbrbn¡H$s g§{dYmZ g ôÀ¶m H$moUË¶m g{‘VrMo AÜ¶jnX S>m°. amO|Ð àgmX ¶m§Zr ŷf{dbobo Zmhr?
1) gwH$mUr g{‘Vr 2) à{H«$¶m {df¶H$ {Z¶‘ g{‘Vr
3) ‘yc ŷV A{YH$ma Cng{‘Vr 4) {dÎmr¶ d ñQ>m’$ g{‘Vr

2) Which of the following committee of Constituent Assembly was not chaired by Dr. Rajendra

Prasad ?

1) Steering Committee 2) Committee on Rules of Procedure

3) Fundamental Rights Sub-committee 4) Finance and Staff Committee

3) Imbrbn¡H$s A¶mo½¶ H$WZ AmoiIm.
1) 'hÎmr' ho g§{dYmZ g ôMo {MÝh åhUyZ ñdrH$maÊ`mV Ambo.
2) ~r. EZ. amd ho g§{dYmZ g ôMo gm§{dYm{ZH$ g„mJma åhUyZ {Z¶wº$ H$aÊ¶mV Ambo.
3) EM. ìhr. Ama. Aæ¶§Jma ho g§{dYmZ g ô‘Ü¶o ‘w»¶ S´>mâQ>g‘°Z hmoVo.
4) ào‘ {~hmar Zmam¶U am¶OmXm ho ^maVr¶ g§{dYmZmMo gw§Xa hñVmjaH$ma hmoVo.

3) Select the incorrect statement from the following :

1) Elephant was adopted as the symbol of the Constituent Assembly.

2) B. N. Rau was appointed as constitutional advisor to the constituent Assembly.

3) H. V. R. Iyengar was the chief draftsman of the constitution in the constituent Assembly.

4) Prem Bihari Narain Raizada was the calligrapher of the Indian constitution.
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4) amï´>r¶ H§$nZr {dYr Anrb A{YH$aU (EZ gr Eb E Q>r) À¶m g§X^m©V Imbrb {dYmZm§Mm {dMma H$am.
a) EZ gr Eb E Q>r ho EZ gr Eb Q>r Zo {Xboë¶m AmXoem{déÕ Anrbm§À¶m gwZmdUrgmR>r Anrbr¶ Ý¶m¶m{YH$aU Amho.
b) EZ gr Eb E Q>r ho BZgm°ëh²d§gr A±S> ~±H«$ßQ²>gr ~moS>© Am°’$ B§{S>¶mZo {Xboë¶m AmXoem{déÕ Anrb gwZmdUrgmR>r

Anrbr¶ Ý¶m¶m{YH$aU Amho.
c) EZ gr Eb E Q>r ho ̂ maVr¶ ñnYm© Am¶moJmZo (gr gr Am¶) {Xboë¶m AmXoem§{déÕ Anrbm§À¶m gwZmdUrgmR>r Anrbr¶

Ý¶m¶m{YH$aU Amho.
{Xbobr H$moUVr {dYmZ/{dYmZo ¶mo½¶ Amho/AmhoV?
1) (a) {dYmZ ¶mo½¶ Amho. 2) (a), (b) {dYmZo ¶mo½¶ AmhoV.
3) (a), (c) {dYmZo ¶mo½¶ AmhoV. 4) darbn¡H$s gd© {dYmZo ¶mo½¶ AmhoV.

4) Consider the following statements with respect to National Company Law Appellate Tribunal

(NCLAT).

a) NCLAT is the Appellate Tribunal for hearing appeals against the orders passed by NCLT(s).

b) NCLAT is the Appellate Tribunal for hearing appeals against the orders passed by insolvency

and Bankruptcy Board of India.

c) NCLAT is the Appellate Tribunal for hearing appeal against the orders passed by the Competiton

Commission of India (CCI).

Which of the given Statement/s is/are correct ?

1) (a) Statement is correct 2) (a), (b) Statements are correct

3) (a), (c) Statements are correct 4) All of the above Statements are correct

5) nwT>rb KQ>ZmË‘H$ Cnm¶¶moOZm d Ë¶m§Mo AW© ¶m§À¶m OmoS>çm Owidm …
              A B

a) ~§Xr àË¶jrH$aU i) H${Zð> Ý¶m¶mb¶mbm Ë¶mÀ¶m ‘¶m©XoMo C„§KZ H$aÊ¶mnmgyZ amoIUo.
b) na‘mXoe ii) IQ>bm H${Zð> Ý¶m¶mb¶mVyZ H$mTy>Z d[að> Ý¶m¶mb¶Vm hb{dUo.
c) CËàojU iii) AmXoe XoUo
d) à{VfoY iv) XohmonpñWVr
n¶m©¶r CÎmao

(a) (b) (c) (d)
1) (iv) (iii) (ii) (i)
2) (i) (iii) (ii) (iv)
3) (iv) (iii) (i) (ii)

4 (iv) (ii) (iii) (i)

5) Match the following constitutional remedies with their meanings :

              A B

a) Habeas corpus i) Prevent a subordinate court from exceeding its jurisdiction

b) Mandamus ii) Transfer of a suit from a subordinate court to a superior court

c) Certiorari iii) We order

d) Prohibition iv) You may have the body

Answer Options :

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (i) (iii) (ii) (iv)

3) (iv) (iii) (i) (ii)

4) (iv) (ii) (iii) (i)
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6) ^maVr¶ g§{dYmZmÀ¶m {H$Vì¶m n[a{eï>mV 'amÁ¶ gyMr'Mm g‘mdoe H$aÊ¶mV Ambobm Amho?
1) ~mamì¶m n[a{eï>mV 2) gmVì¶m n[a{eï>mV 3) nmMì¶m n[a{eï>mV 4) n{hë¶m n[a{eï>mV

6) Subjects of 'State List' is mentioned in which schedule of the Indian Constitution?

1) Twelth Schedule 2) Sevent Schedule 3) Fifth Schedule 4) First Schedule

7) Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
a) n§Mm¶V amO ì¶dñWo‘wio J«m‘rU bmoH$m§Zm ñdV…Mm {dH$mg KS>dyZ AmUÊ¶mMr g§Yr {‘imbr.
b) J«m‘rU ZoV¥ËdmMm CX¶ d {dH$mg hmoÊ¶mg MmbZm {‘imbr.
c) amÁ¶KQ>ZoVrb H$b‘ 45 AÝd¶o J«m‘n§Mm¶Vr ñWmnZ H$ê$Z Ë¶m§Zm ñdamÁ¶mMo KQ>H$ åhUyZ H$m¶© H$aÊ¶mMo A{YH$ma
{XboV.
n¶m©¶r CÎmao …
1) (a) Am{U (b) 2) (a), (b) Am{U (c) 3) (a) 4) gd© n¶m©¶ ~amo~a AmhoV

7) Which of the following statement is true?

a) The Panchayat Raj System provided an opportunity for the rural people to develop themselves.

b) The rise and development of rural leadership was accelerated.

c) Article 45 of the Constitution established Gram Panchayats and gave them the right to function

as a component of Swarajya.

Answer Options :

1) (a) and (b) 2) (a), (b) and (c) 3) (a)                             4) All options are correct

8) "n§Mm¶Vr amO" À¶m nwT>rc ñVamV AgUmè¶m "n§Mm¶V g{‘Vr" cm H$Zm©Q>H$mV ............Ago åhUVmV.
1)A§M{cH$ n§Mm¶V 2) VmcwH$m {dH$mg ‘§S>i 3) n§Mm¶V ¶w{Z¶Z H$m¡pÝgb 4) joÌ g{‘Vr

8) ‘Panchayat Samiti’, as the next tier of ‘Panchayati Raj’, is called ........... in Karnataka.

l)  Anchalik Panchayat 2)  Taluka Development Board

3)  Panchayat Union Council 4)  Kshetra Samiti

9) cmoH$emhr {dH|$ÐrH$aUmgmR>r Imcrcn¡H$s H$moUVo {ZUm©¶H$ KQ>H$ AmhoV ?
a. AH$amì¶m AZwgyMrZwgma n§Mm¶V amO g§ñWmZm H$m¶}, {ZYr Am{U H$m¶m©{YH$mar hñVm§V[aV H$aUo.
b. {Oëhm {Z¶moOZ g{‘Ë¶m§Zm ~iH$Q> H$aUo.
c. n§Mm¶V amOÀ¶m VrZ ñVam‘Ü¶o H$m¶m©Ë‘H$ gr‘m AmIyZ XoUo.
d. da nmgyZ Imcr Aer {Z¶moOZ Am{U {ZU©¶ KoÊ¶mMr à{H«$¶m.
n¶m©¶r CÎmao :
1) a,b  Am{U c 2) a ’$º$ 3) b ’$º$ 4) d  ’$º$

9) Which of the following are crucial factors for democratic decentralization ?

a. Transferring of functions, funds and functionaries as per eleventh schedule to PRIs.

b. Strengthening of District Planning Committees.

c. Functional demarcation between three tiers of Panchayat Raj.

d. Top to bottom process of planning and decision making.

Answer options :

1) a,b and c 2) a only 3) b only 4) d only
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6) Ý`m`nm{bH$m
1) ZmJar h¸$ g§ajU H$m¶Xm, 1955 ‘Yrb Imbrbn¡H$s H$moUVo H$b‘ {XdmUr Ý¶m¶mb¶mÀ¶m A{YH$ma joÌmÀ¶m ‘¶m©Xoer

g§~§{YV Amho?
1) H$b‘ 12 2) H$b‘ 13 4) H$b‘ 11 4) H$b‘ 8

1) Which of the following section of Protection of Civil Rights Act, 1955 deals with limitation of

jurisdiction of civil court ?

1) Section 12 2) Section 13 3) Section 11 4) Section 8

2) bmoH$nmb Am{U bmoH$m¶wº$ H$m¶Xm, 2013 À¶m H$b‘ 63 Zwgma, àË¶oH$ amÁ¶mgmR>r ...... åhUyZ AmoiIbr OmUmar
g§ñWm ñWmnZ H$aÊ¶mMr VaVyX Amho.
1) bmoH$nmb 2) àemgH$s¶ A{YH$mar
3) bmMbwMnV à{V~§YH$ A{YH$mar 4) bmoH$m¶wº$

2) As per section 63 of the Lokpal and Lokayukta Act, 2013, there is a provision for every state to

establish a body to be known as the ......

1) Lokpal 2) Administrative officer

3) Anti-corruption officer 4) Lokayukta

3) Imbrbn¡H$s H$moUVo H$b‘ (AZwÀN>oX) gdm}ƒ Ý¶m¶mb¶mbm ^maVmVrb H$moUË¶mhr Ý¶m¶m{YH$aUmZo {Xboë¶m H$moUË¶mhr
{ZU©¶mda qH$dm AmXoemda {deof {dZ§Vr Anrb XmIb H$aÊ¶mMm A{YH$ma XoVo?
1) Art. 32 2) Art. 227 3) Art. 136 4) Art. 148

3) Which of the following Article of constitution empowers the supreme court to grant special

leave to appeal from any judgment, or order passed by any tribunal in India ?

1) Art. 32 2) Art. 227 3) Art. 136 4) Art. 148

4) .......... ¶m àH$aUmV gdm}ƒ Ý¶m¶mb¶mZo {ejUmÀ¶m ‘yc ŷV A{YH$mamMr A§‘b~OmdUr H$aÊ¶mgmR>r gH©$g‘Yrb
amoOJmamda ~§Xr KmbÊ¶mMo {ZX}e gaH$mabm {Xbo AmhoV.
1) Jm¡ad O¡Z {d. ^maVr¶ g§K 2) ~MnZ ~MmAmo Am§XmobZ {d. ^maVr¶ g§K
3) {ebm ~mago {d. ^maVr¶ g§K 4) AéUm am°¶ {d. ^maVr¶ g§K

4) In the case the supreme court directed the Government to prohibit the employment in circus in

order to implement fundamental right to education.

1) Gaurav Jain V. Union of India 2) Bachpan Bachao Andolan V. Union of India

3) Sheela Barse V. Union of India 4) Aruna Roy V. Union of India

5) A§X‘mZ Am{U {ZH$mo~ma ~oQ>o nwT>rcn¡H$s H$moUË¶m Cƒ Ý¶m¶mc¶mÀ¶m àmXo{eH$ A{YH$majoÌmV ¶oVmV ?
1) {X„r 2) Ho$ai 3) ‘Ðmg 4) H$cH$Îmm

5) Andaman and Nicobar Islands come under territorial jurisdiction of which High Court?

1) Delhi 2) Kerala 3) Madras 4) Calcutta

6) ^maVr¶ g§{dYmZmV gdm}ƒ Ý¶m¶mc¶mMo Ý¶m¶mYre {Z¶wº$ hmoÊ¶mgmR>r {H$‘mZ d¶mo‘¶m©Xm {H$Vr gm§JÊ¶mV Amcr Amho?
1) 25 df©o 2) 30 df©o
3) 35 df©o 4) H$moUVrhr {H$‘mZ d¶mo‘¶m©Xm XoÊ¶mV Amcocr Zmhr
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6) What is the minimum age prescribed by the Constitution of India for appointment as a Judge of

the Supreme Court ?

1) 25 years 2) 30 years

3) 35 years 4) No minimum age is prescribed

7) "cmoH$ Ý¶m¶mc¶m" g§~§Yr Imcrcn¡H$s H$moUVo {dYmZ ~amo~a Zmhr ?
1)  1987 À¶m H$m¶ÚmZwgma cmoH$ Ý¶m¶mc¶mZo {Xcocm {ZdmS>m ({ZU©¶) hm {XdmUr Ý¶m¶mc¶mMm AmXoe ‘mZcm OmVmo

Am{U Vmo A§{V‘ AgVmo d gd© njH$mam§gmR>r ~§YZH$maH$ AgVmo.
2) cmoH$ Ý¶m¶mc¶mV àH$aU XmIc Ho$ë¶mda H$moUVrhr H$moQ>© ’$s ^amdr cmJV Zmhr na§Vw Oa Ý¶m¶mc¶mV àc§{~V

Agcoco àH$aU cmoH$ Ý¶m¶mc¶mH$S>o nmR>{dco Joë¶mg Am{U Ë¶mZ§Va {ZH$mcr {ZKmë¶mg Ý¶m¶mc¶mV ^acocr H$moQ>©
’$s ‘mÌ njH$mam§Zm naV Ho$cr OmV Zmhr.

3) H$moUË¶mhr H$m¶ÚmZwgma g‘PmoVm d H$aVm ¶oUmè¶m JwÝøm§À¶m g§X^m©V cmoH$ Ý¶m¶mc¶mMo A{YH$ma joÌ AgUma Zmhr.
4) darcn¡H$s H$moUVohr Zmhr

7) Which one of the following statements about ‘Lok Adalat’ is not correct ?

1) Under the Act of 1987, the award (decision) made by the Lok Adalat is decree of a Civil Court

and is final and binding on all parties.

2) There is no Court fee payable when a matter is filed in a Lok Adalat. If a matter pending in the

Court of law is referred to the Lok Adalat and is settled subsequently, the Court fee paid in the

Court is not refunded back to the parties.

3) Lok Adalat shall have no jurisdiction in respect of matters relating to an offence not

compoundable under any law.

4) None of the above

8) Imbrbn¡H$s H$moUVo {dYmZ MwH$sMo Amho?
1) 'Yma Am¶moJmZo' ^m{fH$ àXoemMr ‘mJUr hr {Zén¶moJr Am{U {ZamYma Agë¶mMo Kmo{fV Ho$bo.
2) 'Ooìhrnr g{‘VrZo' ‘§w~B© ‘hmamï´>mnmgyZ doJir R>odÊ¶mMm àñVmd ‘m§S>bm.
3) H$m±J«og H$m¶©H$m[aUrZo '{Ì-amÁ¶' ¶moOZm AmUbr.
4) 1955 ‘Ü¶o goZmnVr ~mnQ> ¶m§À¶m ZoV¥ËdmImbr g§¶wº$ ‘hmamï´> g{‘VrMr ñWmnZm H$aÊ¶mV Ambr.

8) Which one of the following statement is incorrect ?

1) ‘Dhar Commission’ declared that the demand for linguistic region is useless and baseless.

2) The ‘JVP Committee’ proposed to keep Mumbai separate from Maharashtra.

3) The Congress Working Committee introduced ‘Tri-state’ Scheme.

4) In 1955 under the leadership of Senapati Bapat Samyukta Maharashtra Samiti was formed.

9) amÁ¶gyMr‘Ü¶o g‘m{dï> Agboë¶m {df¶m~m~V g§gXobm A{YH$ma Amho. Imbrbn¡H$s H$moUVm H$m¶Xm g§gXoZo XmoZ qH$dm
A{YH$ KQ>H$ amÁ¶m§À¶m g§‘Vr{edm¶ ‘§Oya Ho$bobm Amho?
1) ~{jg ñnYm© H$m¶Xm, 1955 2) ZmJar O‘rZ (‘¶m©Xm Am{U {Z¶§ÌU) H$m¶Xm, 1976
3) AnhaU {damoYr H$m¶Xm, 1982 4) Ob (g§dY©Z Am{U àXÿfU {Z¶§ÌU) H$m¶Xm, 1974
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9) Parliament shall have the power to legislate with respect to any matter included in the State List.

Which one of the following acts passed by the Parliament was NOT enacted with the consent of

two or more states ?

1) Prize Competition Act, 1955          2) Urban Land (Ceiling and Regulation) Act, 1976

3) Anti Hijacking Act, 1982                 4) Water (Prevention and Control of Pollution) Act, 1974

10) Imbrbn¡H$s H$moUVr {e’$mag amO‘Þma g{‘VrZo Ho$bobr Zmhr?
1) Am§Va-amÁ¶ n[afXoMr ñWmnZm H$aÊ¶mV ¶mdr.
2) {dÎm Am¶moJ hr H$m¶‘ñdê$nr g§ñWm H$aÊ¶mV ¶mdr.
3) A{Ib ^maVr¶ godm aÔ H$aÊ¶mV ¶mì¶mV.
4) amÁ¶g ôbm bmoH$g ô EdT>o g‘mZ A{YH$ma XoÊ¶mV ¶mdo.

10) Which of the following recommendation is not recommended by Rajmannar Committee ?

1) An Inter-State Council should be setup

2) Finance Commission should be made a permanent body

3) All India Services should be abolished

4) Rajya Sabha should have equal powers as with the Lok Sabha

11) Imbrbn¡H$s H$moUVo {dYmZ MwH$sMo Amho?
1) d¡Ym{ZH$ A{YH$mam§À¶m (Legislative Powers) {d^mJUrnojm H$m¶©H$mar A{YH$mam§Mr  H|$Ð d amÁ¶m§Vrb {d^mJUr

A{YH$ Jw§VmJw§VrMr Amho.
2) qhXr ^mfoÀ¶m {dH$mgmMr ImÌr H$aÊ¶mgmR>r H|$Ð emgZmg amÁ¶ gaH$mam§Zm {ZX}e XoÊ¶mMo A{YH$ma AmhoV.
3) d¡Ym{ZH$ A{YH$mam§~m~V H|$Ð Am{U amÁ¶ ¶m§Zr EH$‘oH$m§À¶m g§‘VrZo EH$‘oH$m§À¶m {ZdS>H$ (Executive) A{YH$ma

joÌmda A{VH«$‘U H$aUo ¶mo½¶ Zmhr na§Vw hoM H$m¶©H$mar A{YH$mam§~m~V e³¶ Amho.
4) darbn¡H$s EH$hr Zmhr.

11) Which one of the following statements is incorrect ?

1) The distribution of Executive Powers between the Union and the States is somewhat more

complicated than that of the legislative powers.

2) The Union has the power to give directions to the State Governments to ensure the development

of the Hindi language.

3) As regards the Legislative powers, it is not competent for the Union and a state to encroach

upon each other’s exclusive jurisdiction by mutual consent, but this is possible as regards

Executive powers.

4) None of the above

12) Imbrbn¡H$s H$moUVo d¡{eîQ>ç ^maVr¶ g§KamÁ¶ Am{U A‘o[aH$Z g§KamÁ¶ ¶m XmoKm§gmR>r g‘mZ Amho?
1) g§{dYmZmMm AW© bmdÊ¶mgmR>r ’o$S>ab gdm}ƒ Ý¶m¶mb¶ 2) Xþhoar Ý¶m¶ì¶dñWm
3) A{dZmer amÁ¶m§Mm A{dZmer g§K 4) EH$mpË‘H$ {ZdS>UyH$ ¶§ÌUm

12) Which of the following is a feature common to both the Indian Federation and the American

Federation ?

1) A Federal Supreme court to interpret the Constitution

2) Dual judiciary

3) An indestructible Union of indestructible states

4) Integrated Election Machinery
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13) {d^mJr¶ n[afXm§Mr C{ÔîQ>ço qH$dm H$m¶} nwT>rbà‘mUo …
a) amÁ¶m§À¶m ‘`m©{XV gmYZgm‘wJ«tMm A{YH$ `mo½`arË`m dmna hmoÊ¶m~Ôb ImÌr H$aUo.
b) amÁ¶dmX, àmXo{eH$dmX, ^mfmdmX Am{U g§Hw${MVdmXr Vrd« d¥Îmr ¶m§Zm Amim KmbÊ¶mg ghmæ¶ H$aUo.
c) {d{dY amÁ¶m§Zr ‘§Oya Ho$boë¶m H$m¶Úm§‘Ü¶o nañnam§er g§Kf© òD$ Z¶o ¶mMr ImÌr H$aUo.
d) XoemV ^md{ZH$ Eo³¶ gmÜ¶ H$aUo.
n¶m©¶r CÎmao …
1) (a), (b) Am{U (c) 2) (b) Am{U (d) 3) (a), (c) Am{U (d) 4) darb gd©

13) The objectives or functions of the Zonal Councils are

a) to ensure better utilisation of the limited resources of the states.

b) to help in arresting the growth of acute state consciousness, regionalism, Tinguisin ‘and

particularistic trends.

c) to ensure that the laws passed by various states do not conflict with each other.

d) to achieve an emotional integration of the country.

Answer Options :

1) (a), (b) and (c) 2) (b) and (d) 3) (a), (c) and (d) 4) All above

14) Imbrb {dYmZo {dMmamV ¿¶m.
a) AZwÀN>oX-361 AZwgma amÁ¶nmb Amnë¶m nXmÀ¶m A{YH$mam§À¶m dmnam~Ôb Am{U H$V©ì¶m§À¶m nmbZm~Ôb Ho$boë¶m

H¥$Vr~Ôb H$moUË¶mhr Ý¶m¶mb¶mg CÎmaXm¶r AgUma Zmhr.
b) amÁ¶nmb Amnë¶m nXmda Omon¶ªV Amho Vmon¶ªV Ë¶m§À¶m {déÕ H$moUË¶mhr ñdê$nmMr ’$m¡OXmar H$m¶©dmhr H$aVm ¶oUma

Zmhr AWdm Mmby R>odVm ¶oUma Zmhr.
c) amï´>nVr nX ho H$m¶m©Ë‘H$Vonojm A{YH$ g‘ma§̂ mË‘H$ Amho na§Vw amÁ¶nmbnX ho g‘ma§̂ mË‘H$ Ë¶mMà‘mUo H$m¶m©Ë‘H$

XoIrb Amho.
darbn¡H$s H$moUVo {dYmZ/Zo ~amo~a Amho/V?
1) (a) Am{U (b) 2) (b) Am{U (c) 3) (a), (b) Am{U (c) 4) Ho$di (c)

14) Consider the following statements :

a) Under Article-361, a Governor is not answerable to any court for the performance of the

power and duties of his office.

b) Nocriminal proceedings can be instituted or continued in any form as long as a person holds

the office of the Governor.

c) The office of the President is more ceremonial than functional, but the Governor's office is

ceremonial as well as functional.

Which of the statements given above is/are correct ?

1) (a) and (b) 2) (b) and (c) 3) (a), (b) and (c) 4) Only (c)

15) ^maVr¶ amÁ¶KQ>ZoMr Imbrbn¡H$s H$moUVr ê$T>r-na§nam g‘Obr OmD$ eH$V Zmhr?
1) g§gXoÀ¶m bmoH$boIm g{‘VrMm AÜ¶j hm {damoYr njmVrb Agmdm.
2) Oa bmoH$g ôMm g^mnVr hm gÎmmê$T> njmMm Agob Va Cn-g^mnVr hm {damoYr njmMm Agmdm.
3) Oa amḯ>nVrMo nX [aH$m‘o Pmbo Agob Am{U Cnamḯ>nVr ho XoIrb CnbãY ZgVrb Va ̂ maVmÀ¶m ‘w»¶ Ý¶m¶mYremÀ¶m

AZwnpñWVr‘Ü¶o gdm}ƒ Ý¶m¶mb¶mMm H$moUVmhr Ý¶m¶mYre amï´>nVr nXmMr H$V©ì¶o nma nmS>Vrb.
4) darbn¡H$s H$moUVrhr Zmhr.
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15) Which one of the following may NOT be treated as conventions of the Indian Constitution ?

1) The Chairman of Public Accounts Committee of the Parliament should belong to a party in the

opposition.

2) If the Speaker of Lok Sabha belongs to the ruling party, the Deputy Speaker should belong to a

party in the opposition.

3) Incase the office of the president is vacant and the vice president is not available and in the

absence of Chief Justice of India, any judge of the Supreme Court shall perform the duties of

the president.

4) None of the above

16) ^maVmÀ¶m amï´>nVrdarb ‘hm{^¶moJm~m~V Imbrbn¡H$s H$moUVo {dYmZ MwH$sMo Amho?
1) amï´>nVrZo amÁ¶KQ>ZoMm ̂ §J (violation of the constitution) Ho$ë¶mg ‘hm{^¶moJ à{H«$¶oÛmam Ë¶m§Zm nXmdê$Z Xÿa

H$aVm òD$ eH$Vo, ‘mÌ 'amÁ¶KQ>ZoMm §̂J' åhUOo H$m¶ ¶mMr ì¶m»¶m amÁ¶KQ>ZoZo Ho$bobr Zmhr.
2) ‘hm{^¶moJmÀ¶m H$m¶©H$mimV amï´>nVrg {Zb§{~V R>odÊ¶mMr VaVyX Zmhr.
3) g§gXoÀ¶m gd© g^mgXm§Zm amï´>nVrÀ¶m {ZdS>r‘Ü¶o Am{U ‘hm{^¶moJm‘Ü¶o gh^mJr hmoÊ¶mMm A{YH$ma Amho.
4) darbn¡H$s EH$hr Zmhr.

16) Which one of the following statements regarding impeachment of President of India is false ?

1) The president can be removed from office by a process of impeachment for ‘violation of the

constitution, the term’ violation of the constitution has not been defined by the constitution.

2) There is no provision for keeping the president under suspension during the period of

impeachment.

3) All members of the parliament have the right to participate in the election and impeachment of

the president.

4) None of the above

7) amÁ` gaH$ma Am{U àemgZ - H$m ©̀H$mar, {d{Y‘§S>i
1) Imcrcn¡H$s H$moUVm amÁ¶nmcm§Mm ñdoÀN>m{YZ A{YH$ma Zmhr ?

1) amÁ¶m‘Ü¶o amï´>nVr emgZ cmJy H$aÊ¶mMr {e’$mag H$aUo.
2) AÜ¶mXoe H$mT>Uo
3) {dYo¶H$ amï´>nVrÀ¶m {dMmamW© amIyZ R>odUo
4) amÁ¶mÀ¶m àemgH$s¶ Am{U H$m¶Xo{df¶H$ ~m~t‘Ü¶o ‘w»¶‘§Í¶m§H$Sy>Z ‘m{hVr ‘mJ{dUo.

1) Which one of the following is not a discretionary power of the Governor ?

1) Recommendation for the imposition of the President’s rule in the State

2) To promulgate ordinances

3) Reservation of a bill for the consideration of the President

4) Seeking information from the Chief Minister with regard to the administrative and legislative

matters of the State
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2) OmoS>çm Owidm :
AZwÀN>oX VaVyX
A. 163 i. ‘w»¶‘§Í¶mMr H$V©ì¶o
~. 164 ii. amÁ¶nmcmg gmhmæ¶ H$aÊ¶mgmR>r Am{U g„m XoÊ¶mgmR>r ‘§{Ì‘§S>i
H$. 166 iii. ‘§Í¶m§~m~V BVa VaVwXr
S>. 167 iv. amÁ¶ gaH$maMo H$m‘H$mO Mmc{dUo.

A ~ H$ S>
1) I II III IV

2) II III IV I

3) III IV I II

4) I IV II III

2) Match the pairs :

Article Provision

A. 168 I. Duties of Chief Minister

B. 164 II. Council of Ministers to aid and advise Governor

C. 166 III. Other provisions as to Ministers

D. 167 IV. Conduct of business of the State Government

Answer options :

A B C D

1) I II III IV

2) II III IV I

3) III IV I II

4) I IV II III

3) Imcrcn¡H$s H$moUVo Bco³Q´>m°{ZH$ ‘VXmZ ¶§ÌmMo ’$m¶Xo AmhoV ?
A. N>nmB©Mr [H§$‘V H$‘r H$aVo ~. H$mJXmMo à‘mU H$‘r H$aVo
H$. nma§n[aH$ nÕVrnojm ‘moOUr à{H«$¶m OcX AgVo S>. ‘erZdarc Adc§{~Ëd H$‘r H$aVo
B. ‘VXmZ Q> o̧$dmarV dmT> H$aVo. ’$. ‘VXmZ Q> o̧$dmarV dmT> H$aVo
n¶m©¶r CÎmao :
1) ’$º$ A, ~, H$, B 2) ’$º$ ~, S>, B 3) ’$º$ H$, S>, A 4) ’$º$ A, ~, H$

3) Which of the following are the advantages of Electronic Voting Machines ?

A. Reduces cost of printing

B. Reduces quantity of paper

C. Counting process faster than traditional method

D. Reduces dependency on machines

E. Enhances voting percentage

Answer options :

1) Only A, B, C, E 2) Only B, D, E 3) Only C, D, A 4) Only A, B, C
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4) ¶mo½¶ H$WZ/Zo AmoiIm.
A. amï´>nVtÀ¶m ‘hm{^¶moJm‘Ü¶o g§gXoÀ¶m H$moUË¶mhr g^mJ¥hmMo Zm‘{ZX}{eV/{Z¶wº$ gXñ¶ gh^mJr hmoD$ eH$VmV.
~. amï´>nVtÀ¶m ‘hm{^¶moJm‘Ü¶o amÁ¶m§À¶m {dYmZg^m§Mo {Zdm©{MV gXñ¶ gh^mJr hmoD$ eH$V Zmhr.
n¶m©¶r CÎmao :
1) ’$º$ A 2) ’$º$ ~ 3) A d ~ XmoÝhr 4) ¶mn¡H$s Zmhr

4) Select the correct statement/s.

A) The nominated members of either House of Parliament can participate in the impeachment of

the President.

B) The elected members of the Legislative Assemblies of States do not participate in the

impeachment of the President.

Answer options :

1) Only A 2) Only B 3) Both A and B 4) None of these

5) ^maVmVrc Cnamï´>nVr g§X^m©V nwT>rc {dYmZm§n¡H$s H$moUVr {dYmZo MwH$sMr AmhoV ?
A. Vo cmoH$g ôMr {ZdS>UyH$ cT>dÊ¶mgmR>r nmÌ hdoV.
~. Ë¶m§Mr ~S>V’$s© cmoH$g^m Am{U amÁ¶g ôVrc gXñ¶m§À¶m ~hþ‘VmZo nm[aV R>amdmÛmao H$aÊ¶mV ¶oVo.
H$. Vo {H$VrXm nwZ{Z©dS>UyH$ cT>dÊ¶mg nmÌ AgVmV.
n¶m©¶r CÎmao :
1) ’$º$ "A' 2)"A' Am{U "~' 3) "A',"~' Am{U "H$' 4) darcn¡H$s Zmhr

5) Which of the following statements are incorrect about Vice-President of India ?

a. He must be qualified for election to House of People.

b. He maybe removed by a resolution passed by a majority of members of Council of States and

House of the People.

c. He is eligible for re-election any number of times.

Answer options :

1) a, b, c 2) a, b 3) b, c 4) a, c

6) Imbrbn¡H$s ¶mo½¶ H$WZ/Zo AmoiIm.
a) {Oëhm {ZdS>UyH$ A{YH$mar ho ‘VXmZ H|$ÐmÜ¶j d ‘VXmZ A{YH$mar ¶m§Mr {Z¶wº$s H$aVmV.
b) H|$Ðem{gV àXoemÀ¶m ~m~VrV [aQ>{ZªJ ({ZdS>UyH$) A{YH$mar ho ‘VXmZ H|$ÐmÜ¶j d ‘VXmZ A{YH$mar ¶m§Mr {Z¶wº$s

H$aVmV.
n¶m©¶r CÎmao …
1) ’$º$ H$WZ (a) 2) ’$º$ H$WZ (b)

3) XmoÝhr H$WZo (a) d (b) ~amo~a AmhoV 4) ¶mn¡H$s Zmhr
6) Select the correct statement/s from the following -

a) The District Election Officer appoints the Presiding Officers and Polling Officers.

b) In the case of Union Territories, Returning Officers appoints the Presiding Officers and Polling

Officers.

Answer Options :

1) Only statement (a) 2) Only statement (b)

3) Both the statements (a) and (b) are correct 4) None of these
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7) àË¶oH$ 'H$' dJ© ZJanm{bHo$bm Amdí¶H$ AgVrb Aem {df¶ g{‘Vr Zo‘Vm ¶oVrb na§Vw Aem g{‘VrV gXñ¶
g§»¶m......
1) ghm nojm A{YH$ AgUma ZmhrV 2) nmM nojm A{YH$ AgUma ZmhrV
3) Xhm nojm A{YH$ AgUma ZmhrV 4) AmR> nojm A{YH$ AgUma ZmhrV

7) Class‘c’ Municipal Council may appoint such subject committees as it may deem necessary

provided that such committee shall consist of ......

1) Not more than six members 2) Not more than five members

3) Not more than ten members 4) Not more than eight members

8) ‘hmamï´>mVrb ‘hmZJanm{bHo$g§~§Yr Imbrb {dYmZo {dMmamV ¿¶m …
a) Zm‘{ZX}{eV gXñ¶ hm g^mJ¥hmÀ¶m ZoVonXr {Z¶wº$ Ho$bm OmD$ eH$V Zmhr.
b) H$moUVmhr gXñ¶ ({Zdm©{MV AWdm Zm‘{ZX}{eV) g^mJ¥hmÀ¶m ZoVonXr {Z¶wº$ Ho$bm OmD$ eH$Vmo.
c) ‘hmamï´> ‘hmZJanm{bH$m A{Y{Z¶‘, 1949 A§VJ©V ‘hmZJanm{bH$m Am¶wº$ hm àW‘V… EH$m doir amÁ¶emgZ

R>adrc Ë¶mà‘mUo XmoZ dfmªnojm OmñV Zgob BV³¶m H$mbmdYrgmR>r nX YmaU H$aVmo.
n¶m©¶r CÎmao …
1) {dYmZ (a) ~amo~a Amho. 2) {dYmZ (b) ~amo~a Amho.
3) {dYmZ (c) ~amo~a Amho. 4) {dYmZo (a) Am{U (c) ~amo~a AmhoV.

8) Consider the following statements about Municipal Corporations in Maharashtra :

a) Nominated councillor cannot be appointed as leader of the House.

b) Any (Elected or Nominated) councillor can be appointed as Leader of the House.

c) Under the Maharashtra Municipal Corporation Act, 1949, the Municipal Commissioner shall

in the tirst instance hold office for such period not exceeding two years as the state govt.

maytix.

Answer Options :

1) Statement (a) is correct 2) Statement (b) is correct

3) Statement (c) is correct 4) Statements (a) and (c) are correct

9) Imbrb {dYmZo {dMmamV ¿¶m …
a) amÁ¶KQ>ZoÀ¶m AZwÀN>oX- 243 P(e) Zwgma àË¶oH$ H$Q>H$‘§S>i ho ZJanm{bH$m g‘Obr nm{hOo.
b) H$Q>H$ ‘§S>img Mb Am{U AMb Aer XmoÝhrhr g§nÎmr {‘i{dÊ¶mMm d ~miJÊ¶mMm A{YH$ma Zmhr.
c) H|$Ð gaH$ma amÁ¶ gaH$ma~amo~a g„m‘gbV Z H$aVm H$Q>H$ ‘§S>imÀ¶m ^m¡Jmo{bH$ gr‘o‘Ü¶o ~Xb H$ê$ eH$Vo.
n¶m©¶r CÎmao …
1) Ho$di (a) 2) (a) Am{U (b) 3) (b) Am{U (c) 4) darbn¡H$s EH$hr Zmhr

9) Consider the following statements :

a) Every Cantonment Board shall be deemed to be a municipality under clause (e) of Article 243

P of the Constitution.

b) Cantonment Board have no power to acquire and hold property both movable and immovable.

c) The Central government may, without consulting the state government alter the territorial |

limits of cantonment.

Which the statements given above is/are correct ?

1) (a) only 2) (a) and (b) 3) (b) and (c) 4) None of the above
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10) "dJ©-II N>mdUr joÌ nm{bHo$'g§~§Yr Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Amho?
1) OZVoÛmam ZD$ gXñ¶ ¶m nm{bHo$V {ZdS>bo OmVmV.
2) ^maVmÀ¶m amï´>nVrÛmao ¶m nm{bHo$V VrZ bîH$ar A{YH$mar gXñ¶ åhUyZ Zm‘{ZX}{eV Ho$bo OmVmV.
3) ImgXma AWdm {dYmZg^m gXñ¶ ¶m nm{bHo$À¶m g^m§Zm hOa amhÿ eH$V Zmhr.
4) darbn¡H$s EH$hr Zmhr.

10) Which one of the following statements about ‘Category-II Cantonment Boards’ is correct ?

1) There are nine members elected by the people.

2) There are three military officers nominated as members by the President of India.

3) The member of Parliament and member of Legislative Assembly cannot attend the meetings of

board.

4) None of the above

11) OmoS>çm Owidm.
(ZJanm{bH$m§À¶m g§X^m©V)
AZwÀN>oX               VaVyX
a) 243-R i) gXñ¶m§~m~V AnmÌVm
b) 243-T ii) ZJanm{bH$m§À¶m {ZdS>UwH$m
c) 243-V iii) OmJm§Mo AmajU
d) 243-ZA iv) ZJanm{bH$m§Mo JR>Z
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

2) (iv) (iii) (i) (ii)

3) (ii) (i) (iv) (iii)

4) (iii) (iv) (ii) (i)

11) Match the pairs :

(With respect of Municipalities)

Article                       Provision

a) 243-R i) Disqualifications for membership

b) 243-T ii) Elections to the Municipalities

c) 243-V iii) Reservation of seats

d) 243-ZA iv) Composition of Municipalities

Answer Options :

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

2) (iv) (iii) (i) (ii)

3) (ii) (i) (iv) (iii)

4) (iii) (iv) (ii) (i)
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8) ñWm{ZH$ ñdamÁ¶ g§ñWm§Mr CËH«$m§Vr, 73 dr Am{U 74 dr XwéñVr
1) 1992 À¶m 74 ì¶m KQ>ZmXþéñVr A{Y{Z¶‘mÀ¶m d¡{eîQ>çm§~m~V Imcrc {dYmZo {dMmamV ¿¶m.

A. {OëømVrc n§Mm¶V Am{U ZJanm{cH$m§Mo {Zdm©{MV gXñ¶ Ë¶m§À¶m‘YyZ "{Oëhm {Z¶moOZ g{‘VrMo" Mma-n§M‘m§e
gX²ñ¶m§Mr {ZdS> H$aVrc Ago ¶m H$m¶ÚmV åhQ>co Amho.

~. ‘hmZJa joÌmVrc ZJanm{cH$m§Mo {Zdm©{MV gXñ¶ Am{U n§Mm¶VtMo AÜ¶j Ë¶m§À¶m‘YyZ "‘hmZJa {Z¶moOZ g{‘VrVrc"
VrZ-MVwWmªe gXñ¶ {ZdS>Vrc Ago ¶m H$m¶ÚmV åhQ>co Amho.

n¶m©¶r CÎmao :
1) {dYmZo A ~amo~a 2) {dYmZo ~ ~amo~a 3) XmoÝhr {dYmZo MyH$sMr 4) XmoÝhrhr {dYmZo ~amo~a

1) Consider the following statements about the features of 74th Amendment Act of 1992.

A. The Act lays down that four-fifths of the members of a ‘District Planning Committee’ should

be elected by the elected members of the district panchayat and municipalities in the district

from amongst themselves.

B. The Act lays down that three-fourth of the members of a ‘Metropolitan Planning Committee’

should be elected by the elected members of the municipalities and chairpersons of the

panchayats in the metropolitan area from amongst themselves.

Answer options :

1) Statement ‘A’ is correct 2) Statement ‘B’ is correct

3) Both the statements are false 4) Both the statements are correct

2) OmoS>çm Owidm :
AZwÀN>oX VaVyX
A. 243 ZE i. ZJanm{cH$m§Mo JR>Z
~. 243 ZD ii. ZJanm{cH$m§À¶m {ZdS>UyH$m
H$. 243 - Q iii. {Oëhm {Z¶moOZmgmR>r g{‘Vr
S>. 243- ZA iv. ‘hmZJa {Z¶moOZmgmR>r g{‘Vr
n¶m©¶r CÎmao :

A ~ H$ S>
1) I IV II III
2) IV III II I
3) IV III I II

4) I II III IV

2) Match the pairs :

   Article                    Provision

A. 243 ZE I. Constitution of municipalities

B. 243 ZD II. Elections to the municipalities

C. 243 Q III. Committee for district planning

D. 243 ZA IV. Committee for metropolitan planning

Answer options :

A B C D

1) I IV II III

2) IV III II I

3) IV III I II

4) I II III IV
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3) Imcrcn¡H$s A¶mo½¶ {dYmZ AmoiIm.
1) amÁ¶mVrc n§Mm¶Vr d ZJanm{cH$m§À¶m {ZdS>UwH$m amÁ¶ {ZdS>UyH$ Am¶moJ KoV AgVo.
2) 1988 À¶m 61 ì¶m KQ>ZmXþéñVr H$m¶ÚmZo ‘VXmZmMo d¶ 21 déZ 18 df©o H$aÊ¶mV Amco.
3) 1991 ‘Ü¶o {ZdS>UyH$ Am¶moJmZo n{hë¶m§Xm à^mdrnyU© AmXe© AmMmag§{hVoMm Cn¶moJ Ho$cm.
4) Ec. M§ÐHw$‘ma {déÕ ¶w{Z¶Z Am°’$ B§{S>¶m (1997) ‘Ü¶o AZwÀN>oX 332 B Mo nmoQ>H$c‘ 3 (d) ho Ag§{dYm{ZH$

Kmo{fV H$aÊ¶mV Amco.
3) Select the incorrect statement from the following.

1) State Election Commission deals with elections to the Panchayats and Municipalities in the

State.

2) 61st Amendment Act 1988 has reduced the voting age from 21 to 18 years.

3) The Election Commission first effectively put to use the model code of conduct in 1991.

4) In L. Chandrakumar Vs Union of India (1997), Clause 3 (d) of Article 332 B was declared as

unconstitutional.

4) 'amÁ¶ {ZdS>UyH$ Am¶wº$m'~m~V Imbrb {dYmZo {dMmamV ¿¶m …
a) ^maVr¶ amÁ¶ KQ>ZoÀ¶m AZwÀN>oX - 243K AÝd¶o amÁ¶ {ZdS>UyH$ Am¶wº$m§Mr {Z¶wº$s Ho$br OmVo.
b) amÁ¶ {ZdS>UyH$ Am¶wº$ nXmda Aem ì¶º$sMr Zo‘UyH$ Ho$br OmB©b Omo A{V[aº$ ‘w»¶ g{Md åhUyZ H$m¶©aV Amho

qH$dm H$m¶©aV hmoVm Ë¶mnojm ImbÀ¶m ñVamdarb ñWmZmda ZìhVm.
c) amÁ¶ {ZdS>UyH$ Am¶wº$ ho Amnë¶m nXmda VrZ dfmªnojm OmñV H$mi amhUma ZmhrV Am{U Ë¶m§Mr nwÝhm Ë¶mM nXmda

{Z¶wº$s hmoÊ¶mg Vo nmÌ AgUma ZmhrV.
d) lr. ¶w nr Eg ‘XmZ ho ‘hmamï´>mMo 7 do amÁ¶ {ZdS>UyH$ Am¶wº$ AmhoV.
darbn¡H$s H$moUVo {dYmZ/Zo ~amo~a Amho/V?
1) Ho$di (a) 2) (b), (c) Am{U (d) 3) (a) Am{U (b) 4) Ho$di (d)

4) Consider the following statements about ‘State Election Commissioner’ (SEC) :

a) The SEC is appointed under Article-243K of the Constitution of India.

b) The SEC shall be appointed from amongst persons who are holding or have been held a post not

lower rank than that of a additional Chief Secretary

c) The SEC shall hold office for a term not exceeding three years and shall not be eligible for re-

appointment.

a) Shri, UPS Madan is 7th SEC of Maharashtra.

Which of the statement given above is/are correct ?

1) (a) only 2) (b), (c) and (d) 3) (a) and (b) 4) (d) only

5) ‘hmamï´>mÀ¶m {d{Y‘§S>i g{‘Vr nÕVr~m~V Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Zmhr?
1) bmoH$boIm g{‘Vr … ¶m g{‘VrMo gXñ¶ Omon¶ªV Zdr g{‘Vr ñWmnZ Ho$br OmV Zmhr Vmon¶ªV nXmda amhÿ eH$VmV.
2) A§XmO g{‘Vr … ¶m g{‘VrMo gd© gXñ¶ ho ’$º$ {dYmZg ôVrb gXñ¶ AgVmV.
3) gmd©O{ZH$ CnH«$‘ g{‘Vr … ¶m g{‘VrMo gXñ¶ ho {d{Y‘§S>imÀ¶m XmoÝhr g^mJ¥hmVrb gXñ¶ AgVmV.
4) {Z¶‘ g{‘Vr … {dYmZg ôMo g^mnVr ho ¶m g{‘VrMo nX{gÕ AÜ¶j AgVmV.
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5) Which one of the following statements about Legislative Committee system of Maharashtra is

not correct ?

1) Public Accounts Committee : The members of this committee shall hold office until a new

committee is constituted.

2) Estimate Committee : All members of this committee are from Assembly only.

3) Committee on Public undertakings : The members of this committee are from both the houses of legislature.

4) Rules Committee : The Speaker of Assembly is the ex-officio chairman of this committee.

6) 'nw§N>r Am¶moJmÀ¶m' {e’$maerZwgma Ooìhm {dYmZg ôV H$moUË¶mM njmbm ñnï> ~hþ‘V Zgob (Hung Assembly) Voìhm
amÁ¶nmbm§Zr ‘w»¶‘§Í¶mMr Zo‘UyH$ H$aVmZm H$moUË¶m àmYmÝ¶H«$‘mMm Adb§~ H$amdm?
a) gdm©V ‘moR>çm amOH$s¶ njmÀ¶m ZoË¶mg Am‘§{ÌV H$amdo Á¶mZo BVam§À¶m nmqR>ã`mda ~hþ‘VmMm Xmdm Ho$bm Amho.
b) {ZdS>UyH$nyd© AmKmS>rÀ¶m ZoË¶mg Am‘§{ÌV H$amdo Á¶mZo gdm©{YH$ gXñ¶-OmJm (seats) Agë¶mMm Xmdm Ho$bm Amho.
c) {ZdS>UwH$sZ§Va Pmboë¶m, emgZ ñWmnZ H$ê$ BpÀN>Umè¶m AmKmS>rg Anjm§gh H$mhtMm ~mhoê$Z nmqR>~m amhUma

Agë¶mMm Xmdm H$aUmè¶m ZoË¶mg Am‘§{ÌV H$amdo.
d) {ZdS>UwH$sZ§Va Pmboë¶m, emgZmV gm‘rb hmoUmè¶m amOH$s¶ njmÀ¶m AmKmS>rÀ¶m ZoË¶mg Am‘§{ÌV H$amdo.
¶mo½¶ àmYmÝ¶H«$‘ …
1) (a), (b), (d), (c) 2) (b), (a), (d), (c) 3) (a), (b), (c), (d) 4) (c), (d), (b), (a)

6) As per the recommendation of ‘Punchhi Commission’ which "order of precedence" must be

followed by the Governor while appointing the Chief Minister in the event of a hung assembly ?

a) To call the leader of the single largest party claiming majority with the support of others.

b) To call the leader of the pre-poll alliance commanding largest number of seats.

c) To call the leader of the post-electoral alliance with some parties joining the government and

others, including the independents, supporting from outside.

d) To call the leader of the post-electoral coalition with parties joining the government.

The correct order of precedence is :

1) (a), (b), (d), (c) 2) (b), (a), (d), (c) 3) (a), (b), (c), (d) 4) (c), (d), (b), (a)

7) Imbrbn¡H$s H$moUVo {dYmZ MwH$sMo Amho?
1) Oa {dYmZ g ôZo ‘§Oya Ho$bobo gm‘mÝ¶ {dYo¶H$ (ordinary bill) {dYmZ n[afXoZo ’o$Q>mibo AWdm VrZ ‘{hÝ¶mV

‘§Oyahr Ho$bo Zmhr Va {dYmZ g^m nwÝhm Vo {dYo¶H$ ‘§Oya H$ê$Z {dYmZ n[afXoH$S>o nmR>{dbo.
2) Xþgè¶m àg§JmV Oa VoM {dYo¶H$ nwÝhm {dYmZ n[afXoZo ’o$Q>mibo AWdm 14 {Xdgm§À¶m AmV ‘§Oya Ho$bo Zmhr Va Vo

{dYo¶H$ XmoÝhr g^mJ¥hm§Zr ‘§Oya Ho$bo Amho Ago g‘Obo OmVo.
3) Oa {dYmZ n[afXoZo ‘§Oya Ho$bobo {dYo¶H$ {dYmZ g ôH$S>o ‘§OwargmR>r nmR>{dbo Am{U Vo {dYmZ g ôZo ’o$Q>mibo Va

Ë¶m {dYo¶H$mMm VoWoM A§V hmoVmo.
4) darbn¡H$s EH$hr Zmhr

7) Which one of the following statements is incorrect ?

1)  If a ordinary bill is passed by the Legislative Assembly and the Legislative Council rejects the

bill or does not pass the bill within 3 months, the Legislative Assembly may again pass the bill

and transmit it to the council again.

2) If on the second occasion, the council again rejects the bill or does not pass it within 14 days,

the bill shall be deemed to have been passed by both houses.

3) If a bill passed by the legislative council and transmitted to the Assembly and rejected by the

Assembly, there is an end to the bill.

4) None of the above
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amÁ¶godm ‘w»¶narjm  nona -2 (2023)
1) OmoS>çm bmdm.

     (H$b‘o)                 (VaVwXr)
a) H$b‘ 210 i) {d{Y‘§S>imVrb MM}da {Z~ªY
b) H$b‘ 211 ii) {d{Y‘§S>imVrb dmnaÊ¶mMr ^mfm
c) H$b‘ 212 iii) Ý¶m¶mb¶m§Zr {d{Y‘§S>imÀ¶m H$m‘H$mOm~m~V Mm¡H$er Z H$aUo
d) H$b‘ 208 iv) H$m¶©nÕVrMo {df¶
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (iv) (i) (iii) (ii)

2) (iv) (iii) (i) (ii)

3) (ii) (iii) (i) (iv)

4) (iii) (i) (iii) (iv)

1) Match the following pairs.

   (Articles)                    (Provisions)

a) Article 210 i) Restriction on discussion in legislature
b) Article 211 ii) Language to be used in legislature
c) Article 212 iii) Court not to inquire into proceedings of the legislature

d) Article 208 iv) Rule of procedure

Answer Options :

(a) (b) (c) (d)

1) (iv) (i) (iii) (ii)

2) (iv) (iii) (i) (ii)

3) (ii) (iii) (i) (iv)

4) (iii) (i) (iii) (iv)

2) g§gXoZo àOmgÎmmH$ ̂ maVmÀ¶m AH$amì¶m dfm©V nm[aV Ho$bobm ~m°å~o nwZa©MZm H$m¶Xm 1960, hm H$m¶Xm 1960 ¶m dfm©Mm
H$m¶Xm H«$‘m§H$ ...... hmoVm.
1) XI 2) XII 3) XII 4) XIV

2) The Bombay Re-organisation Act, 1960 enacted by the Parliament of India in the year 11th of

Republic of India, was the act no, of the 1960.

1) XI 2) XII 3) XII 4) XIV

3) ~m°å~o (‘§w~B©) {dYmZg^m AÜ¶j åhUyZ 1937 Vo 1956 Xaå¶mZ H$moUr H$m‘H$mO nm{hbo?
a) lr. JUoe ‘mbdUH$a b) lr. g¶mOr {gb‘ c) lr. XÎmmÌ¶ Hw§$Q>o d) lr. Hw§$XZ‘b {’$amoXr¶
n¶m©¶r CÎmao …
1) (a), (b), (c) 2) (a), (c), (d) 3) (a), (b), (d) 4) (a), (b), (c), (d)

3) Who worked as a Bombay Legislative Assembly Speaker during 1937-1956 ?

a) Shri. Ganesh Malwankar b) Shri. Sayaji Silam

c) Shri. Dattatray Kunte d) Shri. Kundanmal Firodiya

Answer Options :

1) (a), (b), (c) 2) (a), (c), (d) 3) (a), (b), (d) 4) (a), (b), (c), (d)
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4) amÁ¶nmcm§À¶m {Z¶wº$s g§~§Yr "gaH$m[a¶m Am¶moJmZo" Imcrcn¡H$s H$moUË¶m H$gmoQ>rMr {e’$mag Ho$cocr Zmhr ?
1) Vmo OrdZmÀ¶m EImÚm joÌmVrc à{VW¶e Agmdm
2) Vmo amÁ¶m~mhoarc Agmdm
3) Vmo g{H«$¶ amOH$maUr Agmdm
4) amÁ¶nmcm§Mr {Z¶wº$s hr n§VàYmZ, J¥h‘§Ìr, cmoH$g ôMm g^mnVr Am{U g§~§YrV amÁ¶mMm ‘w»¶‘§Ìr ¶m§Zr {‘iyZ

~Zcoë¶m g{‘VrÛmao Ho$cr Omdr.
4) Which one of the following criteria is not recommended by the ‘Sarkaria Commission’ about the

appointment of Governor ?

1) He should be eminent in some walk of life

2) He should be a person from outside the State

3) He should not be an active politician

4) Appointment of Governor should be entrusted to a Committee comprising the Prime Minister,

Home Minister, Speaker of Lok Sabha and Chief Minister of the State concerned

5) amÁ¶nmcmg§~§{YV nwT>rc {dYmZm§n¡H$s H$moUVr {dYmZo ¶mo½¶ AmhoV ?
A. Ë¶m§Zm amOZ¡{VH$ A{YH$ma ZgVmV.
~. Ë¶m§Zm cîH$ar A{YH$ma ZgVmV.
H$. Ë¶m§Zm amÁ¶mÀ¶m Cƒ Ý¶m¶mc¶mVrc Ý¶m¶mYrem§Zm {Z¶wº$ H$aÊ¶mMo A{YH$ma ZgVmV.
n¶m©¶r CÎmao :
1) A, ~, H$ 2) A, ~ 3) ~, H$ 4) A, H$

5) Which of the following statements are correct about Governor ?

a. He/she has no diplomatic powers.

b. He/she has no military powers.

c. He/she has no power to appoint Judges of the State High Court.

Answer options :

1) a, b, c 2) a, b 3) b, c 4) a, c

6) {X„r g§X^m©Vrc nwT>rc {dYmZm§n¡H$s H$moUVr {dYmZo ¶mo½¶ AmhoV ?
A. ^maVr¶ g§{dYmZmÀ¶m n[a{eï>  I  ‘Ü¶o {X„rMm g‘mdoe H|$Ðem{gV àXoem§‘Ü¶o H$aÊ¶mV Amcm Amho.
~. {X„rcm ñdV:Mo {d{Y‘§S>i Amho.
H$. {X„rÀ¶m {d{Y‘§S>imcm gmd©O{ZH$ gwì¶dñWm, nmocrg Am{U O‘rZ ¶m{df¶r H$m¶Xo H$aÊ¶mMm A{YH$ma Zmhr.
n¶m©¶r CÎmao :
1) A, ~, H$ 2) A, ~ 3) ~, H$ 4) A, H$

6) Which of the following statements about Delhi are correct ?

a. Delhi has been mentioned in the list of Union Territories in Schedule I of the Indian Constitution.

b. Delhi has its own Legislative Assembly.

c. Legislative Assembly of Delhi has no power to make laws with regard to Public order, Police

and Land.

Answer options :

1) a, b, c 2) a, b 3) b, c 4) a, c

7) ^maVr¶ amÁ¶KQ>ZoMm '‘yb ŷV d¡{eï> {gÕm§V' gdm}ƒ Ý¶m¶mb¶mZo ...... ¶m àH$aUmV ‘m§S>bm hmoVm.
1) {‘Zìhm© {‘ëg {d. ^maV gaH$ma 2) JmobH$ZmW {d. n§Om~ amÁ¶
3) ‘ZoH$m Jm§Yr {d. Ho$ai amÁ¶ 4) Ho$edmZ§X ^maVr {d. Ho$ai amÁ¶
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7) The ‘Basic Feature Theory’ of the Constitution of India was propounded by the Supreme Court in

the case of ..........

1) Minerva Mills Vs Union of India. 2) Golaknath Vs State of Punjab.

3) Maneka Gandhi Vs State of Kerala. 4) Keshavanand Bharati Vs State of Kerala.

8) gdm}ƒ Ý¶m¶mb¶mVrb Ý`m`mYrem~m~V A¶mo½¶ H$WZ AmoiIm.
1) d¶mMr 65 df} nyU© hmoB©n¶ªV Vo nX YmaU H$aVmV.
2) Vo amï´>nVtZm nÌ {bhÿZ Amnë¶m nXmMm amOrZm‘m XoD$ eH$VmV.
3) bmoH$g ôÀ¶m {e’$magrZwgma amï´>nVr Ë¶m§Zm Ë¶m§À¶m nXmdê$Z nXÀ¶wV H$ê$ eH$VmV.
4) 100 gXñ¶m§À¶m (bmoH$g ô~m~V) qH$dm 50 gXñ¶m§À¶m (amÁ¶g ô~m~V) ñdmjarZo gdm}ƒ Ý¶m¶mb¶mÀ¶m Ý¶m¶mYrem§Zm

nXÀ¶wVrMm R>amd AÜ¶jm§Zm/g^mnVtZm {Xbm OmVmo.
8) Select the incorrect statement about Judge of Supreme Court :

1) He holds office until he attains the age of 65 years.

2) He can resign his office by writing to the president.

3) He can be removed from his office by the president on the recommendation of the Loksabha

4) A removal motion of judge of Supreme Court signed by 100 members (In the case of Loksabha)

or 50 members (In the case of Rajya Sabha) is to be given to the speaker/ chairman.

9) ^maVr¶ amÁ¶KQ>ZoÀ¶m AZwÀN>oX-124 (4) Zwgma gdm}ƒ Ý¶m¶mb¶mÀ¶m AWdm Cƒ Ý¶m¶mb¶mÀ¶m Ý¶m¶mYremg
nXmdê$Z Xya H$aÊ¶mgmR>r ...... hr H$maUo Agy eH$VmV.
a) KQ>Zm §̂J b) {gÕ Pmbobo J¡adV©Z c) {XdmiImoar
d) AH$m¶©j‘Vm e) «̂ï>mMmamMo Amamon
n¶m©¶r CÎmao …
1) Ho$di (a) 2) (a), (b), (c) Am{U (e) 3) (b) Am{U (d) 4) darb gd©

9) Under the Article-124 (4) of the Indian Constitution, a judge of the Supreme Court or High Court

shall be removed on the ground (s) of ...........

a) Violation of the Constitution b) Proved misbehaviour

c) Bankruptcy d) Incapacity

e) Charges of corruption

Answer Options :

1) (a) only 2) (a), (b), (c) and (e) 3) (b) and (d) 4) All above

10) Imbrbn¡H$s H$moUVo {dYmZ MwH$sMo Amho?
1) Ý¶m¶mb¶rZ nwZ{d©bmoH$Z hm eãXà¶moJ ^maVr¶ amÁ¶KQ>Zo‘Ü¶o H$moR>ohr dmnabobm Zmhr.
2) ^maVmVrb gdm}ƒ Ý¶m¶mb¶mbm Ý¶m{¶H$ nwZ{d©bmoH$ZmMm A{YH$ma amÁ¶KQ>ZoH$Sy>Z {‘imbobm Amho.
3) A‘o[aHo$Vrb gdm}ƒ Ý¶m¶mb¶mbm Ý¶m{¶H$ nwZ{d©bmoH$ZmMm A{YH$ma amÁ¶KQ>ZoH$Sy>Z {‘imbobm Amho.
4) OnmZÀ¶m gdm}ƒ Ý¶m¶mb¶mbm Ý¶m{¶H$ nwZ{d©bmoH$ZmMm A{YH$ma àË¶j amÁ¶KQ>ZoH$Sy>Z {‘imbobm Amho.

10) Which one of the following statements is incorrect ?

1) The phrase of ‘Judicial Review’ has nowhere been used in the Constitution of India.

2) Indian Supreme Court derives its power of ‘Judicial Review’ from the Constitution.

3) American Supreme Court derives its power of ‘Judicial Review’ from the Constitution.

4) Japanese Supreme Court derives its power of ‘Judicial Review’ directly from the Constitution.
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9) J«m‘n§Mm`V, VmbwH$m n§Mm`V, {Oëhm n[afX Am{U J«m‘{dH$mg
1) Oa g^mnVr Am[U Cn-g^mnVr EH$mM doir aOoda AgVrc Va g^mnVr qH$dm Cng^mnVr H$m‘mda éOy hmoB©n¶ªV

n§Mm¶V g{‘VrMm g^mnVr åhUyZ H$moU g^mnVrÀ¶m A{YH$mamMm dmna H$aVrc d H$V©ì¶o nma nmS>Vrc ?
1) ‘w»¶ H$m¶©H$mar A{YH$mè¶mZo {MR²>R>çm Q>mHy$Z {ZdS>coë¶m {df¶ g{‘VrMm g^mnVr (à‘wI)
2) {Oëhm{YH$mè¶mZo {MÇ>¶m Q>mHy$Z {ZdS>cocm {df¶ g{‘VrMm g^mnVr (à‘wI)
3) {d^mJr¶ Am¶wº$m§Zr {MR²>R>çm Q>mHy$Z {ZdS>cocm {df¶ g{‘VrMm g^mnVr (à‘wI)
4) {Oëhm{YH$mè¶mZo {Z¶wº$ Ho$cocm n§Mm¶V g{‘VrMm H$moUVmhr Á¶oð> gXñ¶

1) If the Chairman and the Deputy Chairman are on the leave together, then who exercises the powers

and duties of the Chairman of the Panchayat Samiti until the Chairman or as the case may be, the

Deputy Chairman of the Samiti resumes duty ? (With reference to Maharashtra)

1) The Chairman of the Subjects Committee chosen by the Chief Executive Officer by drawing

lots

2) The Chairman of the Subject Committee chosen by the Collector by drawing lots

3) The Chairman of the Subject Committee chosen by the Divisional Commissioner by drawing

lots

4) Any senior member of Panchayat Samiti appointed by the Collector

2) Imcrc {dYmZo {dMmamV ¿¶m:
A. ‘hmamï´>mVrc ‘hmZJanm{cH$m§Mo 4 JQ>mV dJuH$aU Ho$co OmVo Vo åhUOo dJ© - A, ~, H$ Am{U S>.
~. ZmJnya, nyUo, R>mUo, Zm{eH$, qnnar-qMMdS> hr A dJ© ‘hmZJanm{cH$m§Mr CXmhaUo AmhoV.
H$. ZwH$VoM ‘hmamï´> emgZmZo OmcZm ZJanm[afXoMo loUrdmT> H$éZ ‘hmZJanm{cH$oV énm§Va Ho$co Amho.
darcn¡H$s H$moUVo {dYmZ/Zo {~ZMyH$ Amho/V ?
n¶m©¶r CÎmao :
1) Ho$di A 2) Ho$di A, ~ Am{U H$ 3) Ho$di ~ Am{U H$ 4) Ho$di A Am{U H$

2) Consider the following statements :

A. There are 4 types of Municipal Corporations in Maharashtra i.e. class — A, B, C and D.

B. Nagpur, Pune, Thane, Nasik, Pimpri-Chinchwad are the example of A class Municipal

Corporations.

C. Recently Government of Maharashtra has upgraded Jalna Nagar Parishad to Municipal

Corporation.

Which of the statements given above is/are correct ?

1) Only A 2) Only A, B and C 3) Only B and C 4) Only A and C

3) ‘hmamï´>mÀ¶m g§X^m©V ‘hmZJanm{cHo$ g§~§Yr Imcrc {dYmZo {dMmamV ¿¶m.
A. H$moUË¶mhr g{‘VrÀ¶m g^mnVrZo [H§$dm Cng^mnVrZo g{‘VrÀ¶m cmJmonmR>À¶m XmoZ g^m ~mocmdÊ¶mV H$gyZ Ho$cr Va

amÁ¶emgZ Ë¶mg nXmdéZ Xÿa H$é eH$Vo.
~. Aem àH$mao nXmdéZ Xÿa Ho$coë¶m g^mnVr qH$dm Cng^mnVr ‘mÌ Ë¶m§À¶m nXmÀ¶m Cd©[aV H$mcmdYrV Ë¶m g{‘VrMm

g^mnVr qH$dm Cng^mnVr åhUyZ nwÝhm {ZdSy>Z ¶oÊ¶mg nmÌ AgVmo.
n¶m©¶r CÎmao :
1) {dYmZ A ~amo~a 2) {dYmZ ~ ~amo~a 3) XmoÝhr {dYmZo ~amo~a 4) XmoÝhrhr {dYmZo MyH$sMr
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3) With reference to Maharashtra, consider the following statements about municipal corporation.

A. The Chairman or the Deputy Chairman of any Committee may be removed from the office if

he fails to convene two consecutive meetings of the Committee.

B. The Chairman or the Deputy Chairman so removed shall be eligible for re-election as Chairman

or Deputy Chairman of such committee during remainder term of his office.

Answer options :

1) Statement ‘A’ is correct 2) Statement ‘B’ is correct

3) Both the statements are correct 4) Both the statements are false

10) H|$Ð gaH$ma Am{U àemgZ - H$m ©̀H$mar, {d{Y‘§S>i
1) VmS>rÀ¶m gmd©O{ZH$ÑîQ>çm ‘hÎdmÀ¶m {d{eï> ~m~rH$S>o {dYmZg^m gXñ¶ ............¶m ‘mJm©Zo emgZmMo cj doYy eH$VmV.

1) haH$VrMm ‘wÔm 2) ñWJZ àñVmd 3) A{dídmgmMm àñVmd 4) qZXmì¶§OH$ àñVmd
1) Members of the State Assembly can focus the attention of the government on matters of urgent

public importance through

1) Point of order 2) Adjournment motion

3) No-confidence motion 4) Censure motion

2) Imcrc g{‘Ë¶m§n¡H$s H$moUVr g{‘Vr hr g^mJ¥hmÀ¶m X¡Z§{XZ H$m‘H$mOmer g§~§§{YV Zmhr ?
1) {deofm{YH$ma g{‘Vr   2) H$m‘H$mO g„mJma g{‘Vr
3) ImOJr gXñ¶m§§Mr {dYo¶Ho$ Am{U R>amd ¶mdarc g{‘Vr 4) {Z¶‘ g{‘Vr

2) Which one of the following Committees is not related to the Day-to-Day Business of the House?

1) Committee of Privileges

2) Business Advisory Committee

3) Committee on Private Member’s Bills and Resolutions

4) Rules Committee

3) Imbrbn¡H$s ¶mo½¶ H$WZ/Zo AmoiIm.
a) àË¶oH$ ‘VXmZ H|$Ð {ZdS>UwH$sÀ¶m {Xder {H$‘mZ 8 Vmg Iwbo AgVo.
b) àË¶oH$ ‘VXmamnmgyZ 2 {H$‘rÀ¶m AmV ‘VXmZ H|$Ð Agmdo, ¶mgmR>r {ZdS>UyH$ Am¶moJ gw{ZpíMV H$aÊ¶mMm à¶ËZ

H$amdo.
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (b)

3) (a) d (b) XmoÝhr H$WZo ¶mo½¶ AmhoV 4) ¶mn¡H$s Zmhr
3) Select the correct statement/s from the following :

a) Each Polling station is open for at least eight hours on the day of the election.

b) Election Commission try to ensure that there is polling station within 2 km of every Voter.

Answer Options :

1) Only (a) 2) Only (b)

3) Both (a) and (b) are correct 4) None of these
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4) Imbrb {dYmZo {dMmamV ¿¶m. (amÁ¶ {dYmZg^m {ZdS>UwH$sÀ¶m g§X^m©V)
a) C‘oXdma Á¶m ‘VXma g§KmV {ZdS>UyH$ bT>{dUma Agob Ho$di Ë¶mM ‘VXma g§KmVrb ‘VXma Ë¶m C‘oXdmamMo Zmd

gwMdy (gyMH$) eH$Vmo.
b) C‘oXdma Á¶m ‘VXma g§KmV {ZdS>UyH$ bT>{dUma Agob Aem C‘oXdmamMo Zmd Xþgè¶m ‘VXma g§KmVrb ‘VXma

¶mXr‘Ü¶o Zm|X Agbobm ‘VXma XoIrb Ë¶m C‘oXdmamMo Zmd gwMdy eH$Vmo.
n¶m©¶r CÎmao …
1) {dYmZ (a) ~amo~a 2) {dYmZ (b) ~amo~a
3) XmoÝhrhr {dYmZo ~amo~a AmhoV 4) XmoÝhrhr {dYmZo MwH$sMr AmhoV.

4) Consider the following statements. (with reference to state Assembly elections)

a) Only the person, who is an elector in the constituency in which the candidate contests the

election, can propose the name of candidate.

b) The elector who has been enrolled in the electoral roll for the constituency other than the

constituency from which the candidate contests the election can also propose the name of the

candidate.

Answer Options :

1) Statement (a) is correct 2) Statement (b) is correct

3) Both the statements are correct 4) Both the statements are false

5) Imbrb {dYmZo bjmV ¿¶m d ¶mo½¶ {dYmZo AmoiIm.
a) ~hþOZ g‘mO njmZo 2019 À¶m bmoH$g^m {ZdS>UwH$s‘Ü¶o 10 OmJm qOH$ë¶m Am{U 2014 ‘Ü¶o eyÝ¶ OmJm àmá

Ho$ë¶m.
b) A{Ib ^maVr¶ V¥U‘yb H$m±J«ogZo 2019 À¶m bmoH$g^m {ZdS>UwH$s‘Ü¶o 25 OmJm qOH$ë¶m Am{U 2014 ‘Ü¶o 30

OmJm àmá Ho$ë¶m hmoË¶m.
c) ^maVr¶ amï´>r¶ H$m±J«og njmZo 2019 À¶m bmoH$g^m {ZdS>UwH$s‘Ü¶o 52 OmJm qOH$ë¶m d 2014 ‘Ü¶o 44 OmJm àmá

Ho$ë¶m.
n¶m©¶r CÎmao …
1) ’$º$ (a) Am{U (b) 2) ’$º$ (b) Am{U (c) 3) ’$º$ (a) Am{U (c) 4) darb gd©

5) Consider the following statements and select the correct statement.

a) Bahujan Samaj Party won 10 seats in 2019 Lok Sabha Election while zero seats in 2014.

b) All India Troonmool Congress won 25 seats in 2019 Lok Sabha Election while 30 seats in

2014.

c) Indian National Congress Party won 52 seats in 2019 Loksabha Election while 44 seats in

2014.

Answer Options :

1) Only (a) and (b) 2) Only (b) and (c) 3) Only (a) and (c) 4) All of the above
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amÁ¶godm ‘w»¶narjm  nona -2 (2023)
1) 'n[a{g‘Z Am¶moJm'~m~V Imbrbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?

a) ^maVr¶ amÁ¶KQ>ZoÀ¶m AZwÀN>oX-82 AÝd¶o g§gX n[a{g‘Z H$m¶Xm H$aVo.
b) n[a{g‘Z Am¶moJ nmM doim ñWmnZ Ho$bo Jobo - 1952, 1963, 1973, 2002 Am{U 2008
c) bmoH$g§»¶oÀ¶m à‘mUmV gd© KQ>H$m§Zm g‘mZ à{V{Z{YËd XoUo ho n[a{g‘Z Am¶moJmMo H$m¶© Amho.
d) n[a{g‘Z Am¶moJ hr Cƒ A{YH$ma Agbobr g§ñWm Amho {OÀ¶m AmXoem§Zm H$moUË¶mhr Ý¶m¶mb¶mV àíZm§{H$V H$aVm

¶oV Zmhr.
n¶m©¶r CÎmao …
1) (a), (b) Am{U (c) 2) (a), (c) Am{U (d) 3) (b), (c) Am{U (d) 4) darb gd©

1) Which one of the following statements about the ‘Delimitation Commission’ are correct ?

a) Under Article-82 of the Indian Constitution, Parliament enacts a Delimitation Act.

b) Delimitation Commissions have been set up five times - 1952, 1963, 1973, 2002 and 2008.

c) Function of the Delimitation Commission is to provide equal representation to equal segments

of a population.

d) The Delimitation is a high power body whose orders cannot be called in question before any

Court.

Answer Options :

1) (a), (b) and (c) 2) (a), (c) and (d) 3) (b), (c) and (d) 4) All above

2) 1989 Vo 2004 ¶m H$mimVrc cmoH$g^m {ZdS>UwH$s‘Ü¶o ̂ maVr¶ gmå¶dmXr nj (‘m³g©dmXr) cm àmá Pmcoë¶m OmJm§Mm
{ZdS>UyH$ dfm©Zwgma CVaVm H«$‘ cmdm.
1) 1989 — 1991 — 1999 — 2004 2) 1991 — 1989 — 2004 — 1999

3) 2004 — 1991 — 1989 — 1999 4) 1999 — 2004 — 1991 — 1989

2) Arrange the winning seats in descending order according to the Election year won by the Indian

Communist Party (Marxist) in the Lok Sabha elections from 1989 to 2004.

1) 1989 — 1991 — 1999 — 2004 2) 1991 — 1989 — 2004 — 1999

3) 2004 — 1991 — 1989 — 1999 4) 1999 — 2004 — 1991 — 1989

3) Imcrcn¡H$s ¶mo½¶ H$WZo AmoiIm.
A. n§{S>V Zohê$§Zr 1952, 1957, 1962 À¶m gmd©{ÌH$  {ZdS>UwH$sV ̂ maVr¶ amï´>r¶ H$m°§J«ogcm gcJnUo ~hþ‘V {‘idyZ

{Xco.
~. H$m±J«ogÀ¶m dM©ñdmcm n{hco J§̂ ra AmìhmZ 1967 ‘Ü¶o Amco, Ooìhm g§¶wº$ {damoYr njmZo qhXr nQ²>Q>çmVrc AZoH$

amÁ¶m§da {Z¶§ÌU {‘idco.
H$. B§{Xam Jm§YrZm J[a~r hQ>mAmoMm Zmam XoD$Z A‘o[aHo$er K{Zð> g§~§Y {dH${gV H$am¶Mo hmoVo.
n¶m©¶r CÎmao :
1) ’$º$ ~, H$ 2) ’$º$ A, H$ 3) ’$º$ A, ~ 4) darcn¡H$s gd©
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3) Select the correct statements.

A. Pandit Nehru led the Indian National Congress to consecutive majorities in the General Election

of 1952, 1957, 1962.

B. The first serious challenge to the dominance of the Congress came in 1967 when a united

opposition party won control over several States in Hindi Belt.

C. Indira Gandhi raised slogan Garibi Hatao to develop closer ties with U.S.A.

Answer options :

1) Only B, C 2) Only A, C 3) Only A, B 4) All of the above

4) g‘mOdmXr H$m±J«og njm~m~V Imcrcn¡H$s A¶mo½¶ {dYmZ AmoiIm.
1) g‘mOdmXr H$m±J«ogZo 1980 À¶m cmoH$g^m {ZdS>UwH$sV 1 OmJm qOH$cr.
2) g‘mOdmXr H$m±J«ogZo 1984 À¶m cmoH$g^m {ZdS>UwH$sV 3 OmJm qOH$cr.
3) g‘mOdmXr H$m±J«ogZo 1980 À¶m ‘hmamï´> {dYmZg^m {ZdS>UwH$sV 47 OmJm qOH$ë¶m.
4) g‘mOdmXr H$m±J«ogZo 1985 À¶m ‘hmamï´> {dYmZg^m {ZdS>UwH$sV 54 OmJm qOH$ë¶m.

4) Select the incorrect statement from the following about Samajwadi Congress Party.

1) Samajwadi Congress won 1 seat in 1980 Lok Sabha Election.

2) Samajwadi Congress won 3 seats in 1984 Lok Sabha Election.

3) Samajwadi Congress won 47 seats in Maharashtra Legislative Assembly Election, 1980

4) Samajwadi Congress won 54 seats in Maharashtra Legislative Assembly Election, 1985

5) A¶mo½¶ {dYmZ AmoiIm.
A. VmaHw§$S>o g{‘Vr 1974 ‘Ü¶o {Z¶wº$ H$aÊ¶mV Amcr hmoVr
~. VmaHw§$S>o g{‘VrZo Amncm Ahdmc 1975 ‘Ü¶o gmXa Ho$cm.
H$. VmaHw§$S>o g{‘Vr hr g§gXoMr A{YH¥$V g{‘Vr hmoVr.
S>. g‘m
n¶m©¶r CÎmao :
1) ’$º$ "A' 2) ’$º$ "~' 3)  ’$º$ "H$' 4) ¶mn¡H$s Zmhr

5) Select the incorrect statement.

A. Tarkunde Committee was appointed in 1974.

B. Tarkunde Committee submitted its report on 1975.

C. Tarkunde Committee was a official committee of Parliament.

Answer options :

1) Only A 2) Only B 3) Only C 4) None of these

6) ^maVr¶ H|$Ðr¶ {ZdS>UyH$ Am¶moJmÀ¶m Imcrc ‘w»¶ {ZdS>UyH$ Am¶wº$m§Mm H«$‘ Ë¶m§À¶m H$m¶©H$mcmZwgma cmdm.
1) Q>r. Eg. H¥$îU‘yVu - Eg. dm¶. Hw$aoer - EZ. Jmonmcñdm‘r - E‘. Eg. {Jc
2) Eg. dm¶. Hw$aoer - EZ. Jmonmcñdm‘r - E‘. Eg. {Jc - Q>r. Eg. H¥$îU‘yVu
3) EZ. Jmonmcñdm‘r - Q>r. Eg. H¥$îU‘yVu- Eg. dm¶. Hw$aoer -E‘. Eg. {Jc
4) E‘. Eg. {Jc - Q>r. Eg. H¥$îU‘yVu-EZ - Jmonmcñdm‘r - Eg. dm¶. Hw$aoer
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6) Arrange the following Chief Election Commissioners of the Central Election Commission of

India according to their tenure.

1) T. S. Krishnamurthy — S. Y. Qureshi— N. Gopalaswami — M. S. Gill

2) S. Y. Qureshi — N. Gopalaswami-—M. S. Gill—T. S. Krishnamurthy

3) N. Gopalaswami—T. S. Krishnamurthy — S. Y. Qureshi — M. S. Gill

4) M. S. Gill—T.  S. Krishnamurthy — N. Gopalaswami — S. Y. Qureshi

7) OZVm njmÀ¶m ñWmnZoVrc KQ>H$ nj gm§Jm.
A. g§KQ>Zm H$m±J«og, OZg§K, ^maVr¶ cmoH$Xc, g‘mOdmXr nj
~. g§KQ>Zm H$m±J«og, OZg§K, OZVm Xc, (Eg), ^maVr¶ cmoH$Xc
H$. g§KQ>Zm H$m±J«og, OZg§K, OZVm Xc, (Eg), g‘mOdmXr Xc
S>. cmoH$Vm§{ÌH$ Xc, OZg§K, OZVm Xc (Eg), ^maVr¶ cmoH$Xc
n¶m©¶r CÎmao :
1) ’$º$ A ~amo~a 2) ~ Am[U H$ ~amo~a 3) ’$º$ S> ~amo~a 4) A, H$,S> ~amo~a AmhoV

7) State the component parties in the formation of Janata Party.

A. Syndicate Congress, Jansangh, Bharatiya Lokdal, Samajwadi Party

B. Syndicate Congress, Jansangh, Janata Dal(s), Bharatiya Lokdal

C. Syndicate Congress, Jansangh, Janata Dal(s), Samajwadi Dal

D. Loktantrik Dal, Jansangh, Janata Dal(s), Bharatiya Lokdal

Answer options :

1) Only A is correct 2) Band C are correct 3) Only D is correct 4) A, C and D are correct

8) Imcrcn¡H$s H$moUË¶m {ZdSUyH$ gwYmaUm, 1996 Z§Va Pmë¶m AmhoV ?>
A. Q>nmc ‘Vn{ÌHo$Ûmao (nmoñQ>c ~°coQ>) ‘VXmZ ~. ‘VXma ¶mÚm§Mm ‘mo’$V nwadR>m
H$. ‘VXmZmÀ¶m {Xder H$‘©Mmè¶m§Zm gwÅ>r S>. eómg à{V~§Y
B. àm°³grÛmao ‘V XoÊ¶mMr gw{dYm
n¶m©¶r CÎmao :
1) ’$º$ H$, S>, B 2) ’$º$ A, ~, H$, S> 3) ’$º$ H$, S>, ~ 4) ’$º$ A, ~, B

8) Which of the following electoral reforms have been made after 1996 ?

A. Voting through postal ballot B. Free supply of electoral roll

C. Holiday to employees on the polling day D. Prohibition of arms

E. Facility to opt to vote through proxy

Answer options :

1) Only C, D, E 2) Only A, B, C, D 3) Only C, D, B 4) Only A, B, E

9) VVPATs ~m~V A¶mo½¶ {dYmZ AmoiIm.
1) 2013 ‘Ü¶o VVPATs  Mm Cn¶moJm~m~V H$m¶Úm‘Ü¶o gwYmaUm H$aÊ¶mV Amcr.
2) 2013 ‘Ü¶o ZmoH$goZ {dYmZg^m ‘VXmag§KmÀ¶m nmoQ> {ZdS>UwH$sV VVPAT Mm n{hë¶m§Xm Cn¶moJ H$aÊ¶mV Amcm.
3) EVMs gh VVPAT ho ‘VXmZ àUmcrMr AMyH$Vm d nmaXe©H$Vm gw{ZpíMV H$aVo.
4) 2014 À¶m cmoH$g^m {ZdS>UwH$sV XoemVrc {ZdS>H$ 10 cmoH$g^m ‘VXmag§KmV VVPAT Mm Cn¶moJ H$aÊ¶mV Amcm hmoVm.
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9) Select the incorrect statement about VVPAT.

1) The law for using VVPATs was amended in 2018.

2) VVPAT were first used in bye-election to the Noksen Legislative Assembly Constituency in 2013.

3) EVMs with VVPAT ensure the accuracy and transparency of the voting system.

4) VVPAT were used in 10 selected Parliamentary Constituencies in the country in 2014 Lok

Sabha election.

10) ¶mo½¶ H$WZo AmoiIm.
A. ‘w§~B© àm§VmÀ¶m {dYmZg^m {ZdS>UyH$ 1937 ‘Ü¶o ñdV§Ì ‘Oya njmZo 13 OmJm qOH$ë¶m hmoË¶m.
~. eoS>çwc H$mñQ> ’o$S>aoeZMr ñWmnZm 1940 ‘Ü¶o S>m°. ~r. Ama. Am§~oS>H$a ¶m§Zr Ho$cr.
H$. eoS>çwc H$mñQ> ’o$S>aoeZZo cmoH$g^m {ZdS>UyH$ 1957 ‘Ü¶o 6 OmJm qOH$ë¶m hmoË¶m.
n¶m©¶r CÎmao :
1) ’$º$ A, ~ 2) ’$º$ ~, H$ 3) ’$º$ A, H$ 4) ¶mn¡H$s gd©

10) Select the correct statements.

A. Independent Labour Party won 13 seats in Legislative Assembly Election, 1937 of Mumbai

(Bombay) Province.

B. Scheduled Caste Federation was established in 1940 by Dr. B. R. Ambedkar.

C. Scheduled Caste Federation won 6 seats in Lok Sabha Election, 1957.

Answer options :

1) Only A, B 2) Only B, C 3) Only A, C 4) All of these

11) Imcrcn¡H$s H$moUË¶m amOH$s¶ njm§Mr ñWmnZm 1997 ‘Ü¶o Pmcr hmoVr ?
A. Pmoa‘ Z°eZ°{cñQ> nmQ>u••~. amï´>r¶ OZVm Xc H$. {~Oy OZVm Xc
S>. Amgm‘ JU n[afX B. cmoH$ OZ eº$s nmQ>u
n¶m©¶r CÎmao :
1) ’$º$ A, S>, B 2) ’$º$ ~, H$, B 3) ’$º$ H$, S>, B 4) ’$º$ A, ~, H$

11) Which of the following political parties were formed in 1997 ?

A. Zoram Nationalist Party B. Rashtriya Janata Dal

C. Biju Janata Dal D. Assam Gan Parishad

E. Lok Janshakti Party

Answer options :

1) Only A, D, E 2) Only B, C, E 3) Only C, D, E 4) Only A, B, C

12) ^maVr¶ {ZdS>UyH$ gwYmaUm g{‘Vr Am{U Ë¶mMo ñWmnZm df© ¶m§Mr/¶m§À¶m Imcrcn¡H$s MwH$sÀ`m OmoS>çm AmoiIm.
A. g§WmZ‘ g{‘Vr-1964 ~. dm§ÀNy> g{‘Vr-1971
H$. {XZoe Jmoñdm‘r g{‘Vr-1990 S>. VmaHw§$S>o g{‘Vr -1973
n¶m©¶r CÎmao :
1) A Am{U S> 2) ~ Am{U H$ 3) ~ Am{U S> 4) A Am{U H$

12) Identify the following incorrect pairs about the Election Reform Committee of India and its year

of establishment.

A. Santhanam Committee — 1964 B. Wanchoo Committee — 1971

C. Dinesh Goswami Committee — 1990 D. Tarkunde Committee — 1973

Answer options :

1) A and D 2) B and C 3) B and D 4) A and C
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13) 2014 À¶m ‘hmamï´> {dYmZg^m {ZdS>UwH$sÀ`m VwcZoV 2019 À¶m {dYmZg^m {ZdS>UwH$s‘Ü ò H$moUË¶m amOH$s¶ njmZo
{‘imcoë¶m ‘Vm§À¶m Q>³³¶m§‘Ü¶o dmT> Ho$cr Amho ?
1) ^maVr¶ OZVm nj 2) amï´>dmXr H$m±J«og nj 3) {edgoZm 4) darcn¡H$s H$moUrhr Zmhr

13) Which political party increased vote share percentage in last Maharashtra Assembly Election,

2019 as compared to Assembly Election, 2014 ?

1) Bharatiya Janata Party 2) Nationalist Congress Party

3) Shivsena 4) None of the above

14) H$å¶w{ZñQ> nmQ>u Am°’$ B§{S>¶m ~m~V ¶mo½¶ H$WZo AmoiIm.
A. àË¶oH$ ~mcH$ j‘Vm g‘¥Õrn ª̀V gm‘mÝ¶ {ejUmV amhÿZ {ejU KoD$ eH$Vmo.
~. ^m. H$. n. ZoVo AMwVm ‘oZZ 1957 ‘Ü¶o Ho$aiMo ‘w»¶‘§Ìr Pmco.
H$. B©. E‘. Eg. Z§~wÐrnmX d ~r. Q>r. aU{Xdo ho ^m. H$. n. Mo ZoVo hmoVo.
n¶m©¶r CÎmao :
1) ’$º$ A d ~ 2) ’$º$ ~ d H$ 3) ’$º$ A d H$ 4) darc gd©

14) Select the correct statements about Communist Party of India.

A. Communist Party of India was established on 26 December 1925.

B. In 1957, the CPI leader Achutha Menon became Chief Minister of Kerala.

C. EMS Namboodripad and B. T. Randive was leaders of CPI.

Answer options :

1) Only A and B 2) Only B and C 3) Only A and C 4) All of the above

15) Imcrcn¡H$s A¶mo½¶ H$WZ/Zo AmoiIm.
A. n[a{g‘Z Am¶moJmZo {Xcoë¶m AmXoem§Zm H$moUË¶mhr Ý¶m¶mc¶mV AmìhmZ XoVm ¶oVo.
~. {ZdS>UyH$ {ddmXm§À¶m {ZH$mcmgmR>r Ý¶m¶m{YH$aU ñWmnZ H$aÊ¶mMm A{YH$ma (§g§gX qH$dm amÁ¶ {d{Y‘§S>imcm)

AZwÀN>oX 323 ~r Zwgma Amho.
n¶m©¶r CÎmao :
1) ’$º$ A MwH$sMo Amho 2) H$WZ ~ MwH$sMo Amho 3) H$WZo A d ~ MwH$sMo Amho 4) ¶mn¡H$s Zmhr

15) Select the incorrect statement/s from the following.

A. Orders issued by the delimitation commission can be challenged in any court.

B. Article 323 B empowers the appropriate legislation (Parliament or State Legislature) to establish

a tribunal for adjudication of election disputes.

Answer options :

1) Statement A is incorrect 2) Statement B is incorrect

3) Both statements A and B are incorrect 4) None of these
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CÎmao - (14) amÁ¶ì¶dñWm, emgZ, amOZrVr d ñWm{ZH$ àemgZ

1-2 2-3 3-1 4-2 5-4 6-4 7-3

5) H|$Ð-amÁ` g§~§Y, amÁ¶ {Z{‘©Vr
1-1 2-4 3-4 4-1 5-2 6-2 7-2 8-4 9-4 10-3
11-3

amÁ¶godm ‘w»¶narjm  nona -2 (2024)

1-2 2-4 3-1 4-1

amÁ¶godm ‘w»¶narjm  nona -2 (2023)
1-3 2-2

1) g§{dYmZ g^m, òmoV, g{‘Ë`m, {MÝho

amÁ¶godm ‘w»¶narjm  nona -2 (2024)

1-1 2-4

amÁ¶godm ‘w»¶narjm  nona -2 (2023)
1-4 2-3 3-3 4-4 5-1 6-2 7-1 8-2 8-2 9-1

6) Ý`m`nm{bH$m
1-2 2-4 3-3 4-2 5-4 6-4 7-2 8-4 9-3 10-4
11-4 12-1 13-2 14-3 15-3 16-3

7) amÁ` gaH$ma Am{U àemgZ - H$m ©̀H$mar, {d{Y‘§S>i
1-2 2-2 3-4 4-3 5-2 6-3 7-2 8-1 9-1 10-4
11-2

8) ñWm{ZH$ ñdamÁ¶ g§ñWm§Mr CËH«$m§Vr, 73 dr Am{U 74 dr XwéñVr

1-1 2-3 3-4 4-1 5-2 6-2 7-2

amÁ¶godm ‘w»¶narjm  nona -2 (2023)
1-4 2-1 3-2 4-4 5-1 6-1 7-4 8-3 9-3 10-3
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9) J«m‘n§Mm`V, VmbwH$m n§Mm`V, {Oëhm n[afX Am{U J«m‘{dH$mg
1-1 2-4 3-1

10) H|$Ð gaH$ma Am{U àemgZ - H$m ©̀H$mar, {d{Y‘§S>i
1-2 2-1 3-3 4-1 5-3

amÁ¶godm ‘w»¶narjm  nona -2 (2023)
1-2 2-3 3-3 4-2 5-3 6-4 7-1 8-4 9-4 10-3
11-4 12-3 13-4 14-3 15-1


